
CHEMISTRY

BOOKS - A2Z CHEMISTRY (HINGLISH)

REDOX REACTIONS

Oxidation Number Oxidising And Reducing Agent

1. Oxidation can be defined as the terms 

( ) gain of electron and hydrogen 


( ) gain of oxygen and loss of electron 


( ) increase in oxidation number 


( ) decrease in oxidation number 


Select the correct terms

A.  and 

I

II

III

IV

I II

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_blOmJB65JbRJ


B.  and 

C.  and 

D.  and 

Answer: D

Watch Video Solution

I IV

I III

II III

2. The oxidation number of  in  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

S H2S2O8

+2

+4

+6

+7

https://dl.doubtnut.com/l/_blOmJB65JbRJ
https://dl.doubtnut.com/l/_mkHIFSzEspXB


3. In the reaction 

 is

A. Oxidised

B. Reduced

C. Precipitated

D. None of these

Answer: A

Watch Video Solution

H2S + NO2 → H2O + NO + S. H2S

4. In which of the following processes is nitrogen oxidised ?

A. 

B. 

NH
+

4 → N2

NO−
3 → NO

https://dl.doubtnut.com/l/_mkHIFSzEspXB
https://dl.doubtnut.com/l/_iIPcQPf8nhL9
https://dl.doubtnut.com/l/_ktG0YO0OHDZJ


C. 

D. 

Answer: A

Watch Video Solution

NO2 → NO−
2

NO3 → NH
+

4

5. Reduction is defined in terms of 

( ) electronation and hydrogenation 


( ) de-electronation and gain of oxygen 


( ) increase in oxidation number 


( ) decrease in oxidation number 


Select the correct terms

A.  and 

B.  and 

C.  and 

I

II

III

IV

II III

I III

I IV

https://dl.doubtnut.com/l/_ktG0YO0OHDZJ
https://dl.doubtnut.com/l/_XHbUa3j3O9sC


D.  and 

Answer: C

Watch Video Solution

I II

6. Which of the following statements is correct?

A. Hydrogen has oxidation number  and 

B. Hydrogen has same electronegativity as halogens

C. Hydrogen will not be liberated at anode

D. Hydrogen has same ionization potential as alkali metals

Answer: A

Watch Video Solution

−1 +1

https://dl.doubtnut.com/l/_XHbUa3j3O9sC
https://dl.doubtnut.com/l/_Oeb1xgsF7h9T


7. The conversion of  to  is

A. Oxidation

B. Reduction

C. Neither oxidation nor reduction

D. Both oxidation and reaction

Answer: B

Watch Video Solution

PbO2 Pb(NO3)2

8. The oxidation number of  in  is

A. 

B. 

C. 

D. 

I HIO4

+7

+6

+3

+14

https://dl.doubtnut.com/l/_wNkmB4Xt3AEY
https://dl.doubtnut.com/l/_Yg8eSKFBa0lU


Answer: A

Watch Video Solution

9. Which of the following reactions does not involve either oxidation

or reduction ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

VO+
2 → V2O3

Na → Na+

CrO
2 −
4 → Cr2O

2 −
7

Zn2 + → Zn

https://dl.doubtnut.com/l/_Yg8eSKFBa0lU
https://dl.doubtnut.com/l/_fQFj0GlKVScH


10. Which one of the following has the highest oxidation number of

iodine?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

K3I

KI

IF5

KIO4

11. In the reaction 

A. Bromine is oxidised and carbonate is reduced

B. Bromine is reduced and water is oxidised

3Br2 + 6CO2 −
3 + 3H2O → 5Br ө + BrO

ө

3 + 6HCO
ө

3

https://dl.doubtnut.com/l/_N43NvPylC58b
https://dl.doubtnut.com/l/_fXtZ8mJXxlXq


C. Bromine is neither reduced nor oxidised

D. Bromine is both reduced and oxidised

Answer: D

Watch Video Solution

12. In the following reaction, 

A.  is oxidised as well as reduced

B.  is reduced only

C.  is oxidised only

D. None of these

Answer: A

Watch Video Solution

4P + 3KOH + 3H2O → 3KH2PO2 + PH3

P

P

P

https://dl.doubtnut.com/l/_fXtZ8mJXxlXq
https://dl.doubtnut.com/l/_PW4jkW25AmAX


13. In the reaction: 

 


Which element is reduced? 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cr2O
2 −
7 + 14H ⊕ + 6I Ө → 2Cr3 + + 3H2O + 3I2

Cr

H

O

I

14. If  changes into , the oxidation number is changed by

A. 

B. 

HNO3 N2O

+2

−1

https://dl.doubtnut.com/l/_21lBL3szJD2Y
https://dl.doubtnut.com/l/_5iRXlWRVz85j


C. 

D. 

Answer: D

Watch Video Solution

0

+4

15. Oxidation number of sulphur in  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H2SO5

+2

+4

+8

+6

https://dl.doubtnut.com/l/_5iRXlWRVz85j
https://dl.doubtnut.com/l/_ezalpAo2By4J
https://dl.doubtnut.com/l/_f2pBFSlnwmww


16. In which of the following cases is the oxidation state of  atom

wrongly calculated?

A. (Compound , Oxidation state )

B. (Compound , Oxidation state )

C. (Compound , Oxidation state )

D. (Compound , Oxidation state )

Answer: B

Watch Video Solution

N

= NH4Cl = − 3

= (N2H5)2SO4 = + 2

= Mg3N2 = − 3

= NH2OH = − 1

17. In which one of the following changes there are transfer of five

electrons?

A. 

B. 

MnO
−
4 → Mn2 +

CrO2
4 → Cr3 +

https://dl.doubtnut.com/l/_f2pBFSlnwmww
https://dl.doubtnut.com/l/_jKWE1M90dWZB


C. 

D. 

Answer: A

Watch Video Solution

MnO
2 −
4 → Mn2 +

Cr2O
2 −
7 → 2Cr3 +

18. Oxidation involves

A. Decreases in the valency of positive part

B. Gain of electrons

C. Increase in the valency of negative part

D. Loss of electrons

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_jKWE1M90dWZB
https://dl.doubtnut.com/l/_5s40s6k4SVjs
https://dl.doubtnut.com/l/_aMIWCMHT8CCU


19. Equation  represents

A. Acidic nature of 

B. Basic nature of 

C. Oxidising nature of 

D. Reducing nature of 

Answer: C

Watch Video Solution

H2S + H2O2 → S + 2H2O

H2O2

H2O2

H2O2

H2O2

20. In the reaction 

 


the reductant is

A. 

B. 

C2O
2 −
4 + MnO

−
4 + H + → Mn2 + + CO2 + H2O

C2O
2 −
4

MnO
−
4

https://dl.doubtnut.com/l/_aMIWCMHT8CCU
https://dl.doubtnut.com/l/_AoU70tPoFJK4


C. 

D. 

Answer: A

Watch Video Solution

Mn2 +

H +

21. In which of the following compounds iron has lowest oxidation

state?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

FeSO4. (NH4)2SO4.6H2O

K4Fe(CN)6

Fe(CO)5

Fe2O

https://dl.doubtnut.com/l/_AoU70tPoFJK4
https://dl.doubtnut.com/l/_iDypXRQSf8zQ


22. When  changes to  in a reaction

A. It loses two protons

B. It gains two electrons

C. It loses two electrons

D. It gains two protons

Answer: C

Watch Video Solution

Sn2 + Sn4 +

23. Which of the following is the most powerful oxidizing agent?

A. 

B. 

C. 

D. 

F2

Cl2

Br2

l2

https://dl.doubtnut.com/l/_uCfUQuq7qrD3
https://dl.doubtnut.com/l/_DeFKQwAGG4TI


Answer: A

Watch Video Solution

24. In the chemical reaction , the oxidation

number of sulphur changes from

A.  to 

B.  to 

C.  to

D.  to 

Answer: B

Watch Video Solution

Cl2 + H2S → 2HCl + S

0 2

−2 0

2 0

−2 −1

https://dl.doubtnut.com/l/_DeFKQwAGG4TI
https://dl.doubtnut.com/l/_tKTb17FjiUg0


25. When  is passed through acidic solution of potassium

dichromate, then chromium sulphate is formed. Change in valency of

chronium is

A.  to 

B.  to 

C.  to 

D.  to 

Answer: C

Watch Video Solution

SO2

+4 +2

+5 +3

+6 +3

+7 +2

26. The oxidation states of the most electronegative elements in the

products of the reaction between  and  are

A.  and 

BaO2 H2SO4

0 −1

https://dl.doubtnut.com/l/_34QidKzMyRUS
https://dl.doubtnut.com/l/_hxAFkTxqtkT4


B.  and 

C.  and 

D.  and 

Answer: B

Watch Video Solution

−1 −2

−2 0

−2 +1

27. The highest oxidation state of  is shown by

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Mn

K2MnO4

KMnO4

MnO2

Mn2O2

https://dl.doubtnut.com/l/_hxAFkTxqtkT4
https://dl.doubtnut.com/l/_V2IZVHQFJkDT


28. The oxidation number of  in  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C CH2O

−2

+2

0

+4

29. Oxidation number of  in  is

A. 

B. 

C. 

N (NH4)2SO4

−3

−1

+1

https://dl.doubtnut.com/l/_V2IZVHQFJkDT
https://dl.doubtnut.com/l/_q4unvYnPQGN0
https://dl.doubtnut.com/l/_S2AZzj6X7ED1


D. 

Answer: A

Watch Video Solution

−1/3

30. In which of the following compounds transition metal is in

oxidation state zero

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[Co(NH3)6]Cl2

[Fe(H2O)6SO4]

[Ni(CO)4]

[Fe(H2O)3](OH)2

https://dl.doubtnut.com/l/_S2AZzj6X7ED1
https://dl.doubtnut.com/l/_91E2mxLRKZdh
https://dl.doubtnut.com/l/_6QGPOnsgyhAo


31. Oxidation number of nickel in 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ni(CI)4

+2

+4

−4

0

32. Which of the following is not a reducing agent?

A. 

B. 

C. 

D. 

NaNO2

NaNO3

HI

SnCl2

https://dl.doubtnut.com/l/_6QGPOnsgyhAo
https://dl.doubtnut.com/l/_krJJbXpKb2Lp


Answer: B

Watch Video Solution

33. The brown ring complex compound is formulated as

. The oxidation state of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[Fe(H2O)5NO]SO4 Fe

1

2

3

0

34. The oxidation number of  in  isMn MnO
− 1
4

https://dl.doubtnut.com/l/_krJJbXpKb2Lp
https://dl.doubtnut.com/l/_ibptJgM7SApG
https://dl.doubtnut.com/l/_or4MCdpCzov2


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+6

−5

+7

+5

35. In ,  acts as

A. Oxidising agent

B. Reducing agent

C. ( ) and ( ) both

D. None of these

Answer: A

C + H2O → CO + H2 H2O

a b

https://dl.doubtnut.com/l/_or4MCdpCzov2
https://dl.doubtnut.com/l/_gHUUOlQ1jlxA


Watch Video Solution

36. The oxidation numbers of  and  in iron pyrites are

A. , 

B. , 

C. , 

D. , 

Answer: D

Watch Video Solution

Fe S

3 −1

2 −1

3 −1.5

4 −2

37. In which of the following cpmpounds the oxidation number of

carbon is maximum

A. HCHO

https://dl.doubtnut.com/l/_gHUUOlQ1jlxA
https://dl.doubtnut.com/l/_peCyPIy41FEe
https://dl.doubtnut.com/l/_s4Eqe5EsIzKn


B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3OH

CHCl3

C12H22O11

38. Sulphur has lowest oxidation number in

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H2SO3

SO2

H2SO4

H2S

https://dl.doubtnut.com/l/_s4Eqe5EsIzKn
https://dl.doubtnut.com/l/_zKQoDyvagjMI


39. A solution of sulphur dioxide in water reacts with 

precipitating sulphur. Here sulphur dioxide acts as

A. As oxidising agent

B. A reducing agent

C. An acid

D. A catayst

Answer: A

Watch Video Solution

H2S

40. In ferrous ammonium sulhate oxidation number of  is

A. 

B. 

Fe

+3

+2

https://dl.doubtnut.com/l/_zKQoDyvagjMI
https://dl.doubtnut.com/l/_aYLT9wJhh4KO
https://dl.doubtnut.com/l/_Fqm0jia239RL


C. 

D. 

Answer: B

Watch Video Solution

+1

−2

41. The oxidation number of  in  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cr K2Cr2O7

−2

−7

+2

+6

https://dl.doubtnut.com/l/_Fqm0jia239RL
https://dl.doubtnut.com/l/_LDSi4VeoUGFI
https://dl.doubtnut.com/l/_xYdHdZh9PPOd


42. Oxidation number of carbon in  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − Cl

−3

−2

−1

0

43. In which of the following reactions  is a reducing agent?

A. 

B. 

C. 

D. 

H2O2

2FeCl2 + 2HCl + H2O2 → 2FeCl3 + 2H2O

Cl2 + H2O2 → 2HCl + O2

2HI + H2O2 → 2H2O + I2

H2SO3 + H2O2 → H2SO4 + H2O

https://dl.doubtnut.com/l/_xYdHdZh9PPOd
https://dl.doubtnut.com/l/_yEmoebAHzg4P


Answer: B

Watch Video Solution

44. Oxidation numbers of two  atoms in belaching powder, 

, are

A. , 

B. , 

C. , 

D. , 

Answer: B

Watch Video Solution

Cl

CaOCl2

−1 −1

+1 −1

+1 +1

0 −1

https://dl.doubtnut.com/l/_yEmoebAHzg4P
https://dl.doubtnut.com/l/_GcvSdLfkQouT


45. Select the compound in which chlorine is assigned the oxidation

number 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+5

HClO4

HClO2

HClO3

HCl

46. When  is dissolved in water the sodium ion becomes

A. Oxidised

B. Reduced

C. Hydrolysed

NaCl

https://dl.doubtnut.com/l/_wUfZ1twVCktm
https://dl.doubtnut.com/l/_Qa76s8hL4BG1


D. Hydrated

Answer: D

Watch Video Solution

47. Oxidation number of osmium  in  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(Os) OsO4

+8

+6

+7

+4

https://dl.doubtnut.com/l/_Qa76s8hL4BG1
https://dl.doubtnut.com/l/_HU874seuWZ4d


48. The oxidation number of iron in the compound  is

A. 2

B. 

C. 

D. 

Answer: A

Watch Video Solution

K4[Fe(CN)6]

+

+4

+3

+6

49. Which substance is serving as a reducing agent in the following

reaction? 

A. 

B. 

14H + + Cr2O
2 −
7 + 3Ni → 2Cr3 + + 7H2O + 3Ni2 +

H2O

Ni

https://dl.doubtnut.com/l/_1KO6wj9xL5e6
https://dl.doubtnut.com/l/_dBR20blhQrvH


C. 

D. 

Answer: B

Watch Video Solution

H +

Cr2O
2 −
7

50. When  acts as an oxidising agnet and ultimetely from 

, and , then the number of electrons

transferred in each case, respectively, are

A. , , ,

B. , , ,

C. , , ,

D. , , ,

Answer: C

Watch Video Solution

KMnO4

MnO
2 −
4 , MnO2, Mn2O3 Mn2 +

4 3 1 5

1 5 3 7

1 3 4 5

3 5 7 1

https://dl.doubtnut.com/l/_dBR20blhQrvH
https://dl.doubtnut.com/l/_Xu7zsZ9HMFGs


Watch Video Solution

51. Which of the following acids possesses oxidising, reducing, and

complex forming properties ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

HNO3

H2SO4

HCl

HNO2

52. Oxidation number of  in  is

A. 

B. 

P KH2PO2

−4

+3

https://dl.doubtnut.com/l/_Xu7zsZ9HMFGs
https://dl.doubtnut.com/l/_Mg5Uh6KeSxGP
https://dl.doubtnut.com/l/_zWvnIy7qYXce


C. 

D. 

Answer: D

Watch Video Solution

+5

+1

53. Which one is oxidising substance?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C2H2O2

CO

H2S

CO2

https://dl.doubtnut.com/l/_zWvnIy7qYXce
https://dl.doubtnut.com/l/_tIY7hmd7W9vU
https://dl.doubtnut.com/l/_0dMfhTbIjnvd


54. The compound that can work both as oxidising and reducing

agent is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

KMnO4

H2O2

BaO2

K2Cr2O7

55. Oxidation number of  in  is

A. 

B. 

C. 

P Ba(H2PO2)2

+1

−1

+2

https://dl.doubtnut.com/l/_0dMfhTbIjnvd
https://dl.doubtnut.com/l/_WQhGSbMsWPGL


D. 

Answer: A

Watch Video Solution

+3

56. The oxidation number and the electronic configuration of sulphur

in  is

A. , 

B. , 

C. , 

D. , 

Answer: A

Watch Video Solution

H2SO4

+6 1s22s22p6

+2 1s22s22p63s23p2

+3 1s22s22p63s23p1

+4 1s22s22p63s2

https://dl.doubtnut.com/l/_WQhGSbMsWPGL
https://dl.doubtnut.com/l/_kvWwt2bBK1t2
https://dl.doubtnut.com/l/_KkgtqsaJCmB0


57. The compound which could not act both as oxidising and reducing

agent is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

SO2

MnO2

Al2O3

CrO

58. In  and  the oxidation state of  is

A. 

B. 

C. 

XeO3 XeF6 Xe

+4

+1

+6

https://dl.doubtnut.com/l/_KkgtqsaJCmB0
https://dl.doubtnut.com/l/_Euox2QRSIisz


D. 

Answer: C

Watch Video Solution

+3

59. In the reaction 

,  acts as

A. Reducing agent

B. Oxidising agent

C. Bleaching agent

D. None of the above

Answer: A

Watch Video Solution

Ag2O + H2O2 → 2Ag + H2O + O2 H2O2

https://dl.doubtnut.com/l/_Euox2QRSIisz
https://dl.doubtnut.com/l/_tHJx2eJrWC9J
https://dl.doubtnut.com/l/_heDZuxTdS9hC


60. The oxidation state of  in  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cr Cr2O
2 −
7

4

6

−6

−2

61. A metal ion  loses three electrons , its oxidation number will

be

A. 

B. 

C. 

M 3 +

0

+3

+6

https://dl.doubtnut.com/l/_heDZuxTdS9hC
https://dl.doubtnut.com/l/_87hEXUmxbGx4


D. 

Answer: C

Watch Video Solution

−3

62. Oxidation number of sulphur in  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

S2SO
2 −
3

−2

+6

+2

0

https://dl.doubtnut.com/l/_87hEXUmxbGx4
https://dl.doubtnut.com/l/_4j80S9hI9e4a


63. Which of the following substances acts as an oxidising as well as a

reducing agent?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Na2O

SnCl2

Na2O2

NaNO2

64. Oxidation state of oxygen atom in potassium superoxide is

A. 

B. 

C. 

0

−
1

2

−1

https://dl.doubtnut.com/l/_A1sumHEuyvhg
https://dl.doubtnut.com/l/_rPCg1Uf1WYdQ


D. 

Answer: B

Watch Video Solution

−2

65. Among the following identify the species with an atom in 

oxidation state.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+6

MnO
−
4

Cr(CN)3 −
6

NiF 2 −
6

CrO2Cl2

https://dl.doubtnut.com/l/_rPCg1Uf1WYdQ
https://dl.doubtnut.com/l/_dkUitXtPquy7
https://dl.doubtnut.com/l/_3fdRXVvTHTYQ


66. The oxidation number of  in  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

S Na2S4O6

5

2

3

2

3

5

2

3

67.  acts both as reductant and as oxidant, while  acts

only as oxidant. It is due to their

A. Solubility ability

B. Maximum oxidation number

C. Minimum oxidation number

HNO2 HNO3

https://dl.doubtnut.com/l/_3fdRXVvTHTYQ
https://dl.doubtnut.com/l/_4aRRUK4Cfd8A


D. Minimum number of valence electrons

Answer: B

Watch Video Solution

68. In which reaction there is a change in valency

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2NO2 → N2O4

NH4OH → NH
+

4 + OH −

2NO2 + H2O → HNO2 + HNO3

CaCO3 → CaO + CO(2)

https://dl.doubtnut.com/l/_4aRRUK4Cfd8A
https://dl.doubtnut.com/l/_0tFtAfR08m8i


69. Which one of the following reaction is not an example of redox

reaction?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cl2 + 2H2O + SO2 → 4H + + SO
2 −
4 + 2Cl−

Cu+ + + Zn → Zn+ + + Cu

2H2 + O2 → 2H2O

HCl + H2O → H3O
− + Cl−

70. Oxidation numbers of  in  and  are

respectively

A. ,

B. ,

Mn K2MnO4 MnSO4

+7 +2

+5 +2

https://dl.doubtnut.com/l/_tGQWd9IoJ5cH
https://dl.doubtnut.com/l/_4ShLCkXUr6xi


C. ,

D. ,

Answer: C

Watch Video Solution

+6 +2

+2 +6

71. What is the oxidation number of  in ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Co [Co(NH3)4ClNO2]

+5

+3

+4

+2

https://dl.doubtnut.com/l/_4ShLCkXUr6xi
https://dl.doubtnut.com/l/_537m4VFljgWy
https://dl.doubtnut.com/l/_TrzAjvrte1YF


72. The valency of  in the complex 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cr [Cr(H2O)4Cl2]
+

1

3

5

6

73. Oxidation number of  in  is

A. 

B. 

C. 

D. 

N NH3

+5

+3

0

−3

https://dl.doubtnut.com/l/_TrzAjvrte1YF
https://dl.doubtnut.com/l/_5jfY8BhvtdS5


Answer: D

Watch Video Solution

74. Oxidation number of nitrogen in  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NaNO2

+2

+4

+3

−3

75. which of the following is a redox reaction ?

https://dl.doubtnut.com/l/_5jfY8BhvtdS5
https://dl.doubtnut.com/l/_Sqmru8gt5av1
https://dl.doubtnut.com/l/_1RnKFoNg1dWP


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Zn + 2AgCN → 2Ag + Zn(CN)2

Mg(OH)2 + 2NH4Cl → MgCl2 + 2NH4OH

CaC2O4 + 2HCl → CaCl2 + H2C2O4

NaCl + KNO3 → NaNO3 + KCl

76. When  is converted to , the change in the

oxidation state of chromium is

A. 

B. 

C. 

D. 

K2Cr2O7 K2CrO4

0

6

4

3

https://dl.doubtnut.com/l/_1RnKFoNg1dWP
https://dl.doubtnut.com/l/_DMDiqRRcj4dZ


Answer: A

Watch Video Solution

77. Which of the following reactions involves oxidation-reaction?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2 + Br2 → 2HBr

HBr + AgNO3 → AgBr + HNO3

NaBr + HCl → NaCl + HBr

2NaOH + H2SO4 → NaSO4 + 2H2O

78. The oxidation number of sulphur in  and iron in 

 is respectively

H2S2O7

K4Fe(CN)6

https://dl.doubtnut.com/l/_DMDiqRRcj4dZ
https://dl.doubtnut.com/l/_yktUPtWNqIFO
https://dl.doubtnut.com/l/_FVIP96BFpPlg


A.  and 

B.  and 

C.  and 

D.  and 

Answer: D

Watch Video Solution

+6 +4

+2 +2

+8 +2

+6 +2

79. Oxidation state of chlorine in perchloric acid is

A. 

B. 

C. 

D. 

Answer: D

−1

0

−7

+7

https://dl.doubtnut.com/l/_FVIP96BFpPlg
https://dl.doubtnut.com/l/_drSM6DhBUYV9


Watch Video Solution

80. Carbon is in the lowest oxidation state in

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH4

CCl4

CF4

CO2

81. Oxidation number of carbon in  is

A. 

B. 

H2C2O4

+4

+3

https://dl.doubtnut.com/l/_drSM6DhBUYV9
https://dl.doubtnut.com/l/_a6eveEDBQSwr
https://dl.doubtnut.com/l/_eyzv8s9qIkVi


C. 

D. 

Answer: B

Watch Video Solution

+2

−2

82. Which of the following can act as an acid as a base?

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

HClO−
3

H2PO
−
4

HS −

https://dl.doubtnut.com/l/_eyzv8s9qIkVi
https://dl.doubtnut.com/l/_2UwlMmeMdjRp


Balancing Of The Equation

1.  reduces  ion to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2O2 MnO
−
4

Mn+

Mn2 +

Mn3 +

Mn−

2. The value of  in the partial redox equation 

 is

A. 

x

MnO
−
4 + 8H + + xe ⇔ Mn2 + + 4H2O

5

https://dl.doubtnut.com/l/_P6lDlPplCkiW
https://dl.doubtnut.com/l/_GV2TXxeP4nFr


B. 

C. 

D. 

Answer: A

Watch Video Solution

3

1

0

3. During the disproportionation of  to iodide and iodate ions, the

ratio of iodate and iodide ions formed in alkaline medium is

A. 

B. 

C. 

D. 

Answer: A

I2

1: 5

5: 1

3: 1

1: 3

https://dl.doubtnut.com/l/_GV2TXxeP4nFr
https://dl.doubtnut.com/l/_AsYxs491eUDM


Watch Video Solution

4. What is  in the following reaction 

?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

'A'

2F 3 +
( aq )

+ Sn2 +
( aq )

→ 2Fe2 +
( aq )

+ A

Sn3 +
( aq )

Sn2 +
( aq )

Sn4 +
( aq )

Sn

5. In the redox reaction 

A. , , 

xMnO + yPbO2 + zHNO3 → HMnO4 + Pb(NO3)2 + H2O

x = 2 y = 5 z = 10

https://dl.doubtnut.com/l/_AsYxs491eUDM
https://dl.doubtnut.com/l/_FuvBKBx9Rh4w
https://dl.doubtnut.com/l/_XMM9ZI3qbdse


B. , , 

C. , , 

D. , , 

Answer: A

Watch Video Solution

x = 2 y = 7 z = 8

x = 2 y = 5 z = 8

x = 2 y = 5 z = 5

6. In the balanced chemical reaction 

 


, and , respectively, correspond to

A. , , ,

B. , , ,

C. , , ,

D. , , ,

IO
ө

3 + alө + bH ө → cH2O + dI2

a, b, c d

5 6 5 5

5 3 6 3

3 5 3 6

5 6 3 3

https://dl.doubtnut.com/l/_XMM9ZI3qbdse
https://dl.doubtnut.com/l/_mcOuxSachhnl


Answer: D

Watch Video Solution

7. For the redox reaction 

 


the correct coefficients of the reactions for the balanced reaction are

A. ( , , )

B. ( , , )

C. ( , , )

D. ( , , )

Answer: A

Watch Video Solution

MnO
ө

4 + C2O
2 −
4 + H ⊕ → Mn2 + + CO2 + H2O

MnO
−
4 = 2 C2O

2 −
4 = 5 H + = 16

MnO
−
4 = 16 C2O

2 −
4 = 5 H + = 2

MnO
−
4 = 5 C2O

2 −
4 = 16 H + = 2

MnO
−
4 = 2 C2O

2 −
4 = 16 H + = 5

https://dl.doubtnut.com/l/_mcOuxSachhnl
https://dl.doubtnut.com/l/_vatIJMaZq2I8


8. For the redox reaction 

 


,  and  are

A. ( , , )

B. ( , , )

C. ( , , )

D. ( , , )

Answer: D

Watch Video Solution

xFe2 + + yCr2O
2 −
7 + zH + → Fe3 + + Cr3 + + H2O

x y z

x = 3 y = 1 z = 14

x = 6 y = 1 z = 7

x = 6 y = 2 z = 14

x = 6 y = 1 z = 14

9.  


In this equation, the ratio of the coefficients of  and  is

A. 

C2H6(g) + nO2 → CO2(g) + H2O(l)

CO2 H2O

1: 1

https://dl.doubtnut.com/l/_LqA0mriwUoZL
https://dl.doubtnut.com/l/_zPxSN0XQJmsy


B. 

C. 

D. 

Answer: B

Watch Video Solution

2: 3

3: 2

1: 3

10. Number of electron involved in the reduction of  ion in

acidic solution to  is:

A. 

B. 

C. 

D. 

Answer: C

Cr2O
2 −
7

Cr3 +

0

2

3

5

https://dl.doubtnut.com/l/_zPxSN0XQJmsy
https://dl.doubtnut.com/l/_QrXdV3eWo2KD


Watch Video Solution

11. . In this

reaction  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2MnO
−
4 + 5H2O2 + 6H − → 2Z + 5O2 + 8H2O

Z

Mn+ 2

Mn+ 4

MnO2

Mn

12.  can be oxidised to

A.  and 

H2O

H2 O2

https://dl.doubtnut.com/l/_QrXdV3eWo2KD
https://dl.doubtnut.com/l/_XX3DtAtyM0L8
https://dl.doubtnut.com/l/_SPJCAvYqIuLq


B. 

C. 

D. 

Answer: B

Watch Video Solution

O2

OH −

O2 −

13. When  is boiled with strong nitric acid, the products are zinc

nitrate, sulphuric acid and nitrogen dioxide. What are the changes in

the oxidation numbers of ,  and ?

A. , , 

B. , , 

C. , , 

D. , , 

ZnS

Zn S N

+2 +4 −1

+2 +6 −2

0 +4 −2

0 +8 −1

https://dl.doubtnut.com/l/_SPJCAvYqIuLq
https://dl.doubtnut.com/l/_BJEyy8j9V6AE


Answer: D

Watch Video Solution

14. Which of the following equations is a balanced one?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5BiO−
3 + 22H + + Mn2 + → 5Bi3 + + 7H2O + MnO

−
4

5BiO−
3 + 14H + + 2Mn2 + → 5Bi3 + + 7H2O + 2MnO

−
4

2BiO−
3 + 4H + + Mn2 + → 2Bi3 + + 2H2O + MnO

−
4

6BiO−
3 + 12H + + 3Mn2 + → 6Bi3 + + 6H2O + 3MnO

−
4

15. In the following reaction 

 
2I − + Cr2O
2 −
7 + 14H + → I2 + 2Cl3 + 7H2O

https://dl.doubtnut.com/l/_BJEyy8j9V6AE
https://dl.doubtnut.com/l/_MsBGcOiCIbXo
https://dl.doubtnut.com/l/_3xhP4ITJBHuk


Unbalanced parts are

A. , 

B. , 

C. , 

D. None of them are balanced

Answer: C

Watch Video Solution

H + H2O

Cr2O
2 −
7 Cr3 +

I − I2

16. For the redox reaction 

 


The correct coefficients of the reactions for the balanced reaction are

A. ( , , )

B. ( , , )

C. ( , , )

Cr2O
− 2
7 + H + + Ni → Cr3 + Ni2 + + H2O

Cr2O
2 −
7 = 1 Ni = 3 H + = 14

Cr2O
2 −
7 = 2 Ni = 3 H + = 14

Cr2O
2 −
7 = 1 Ni = 1 H + = 16

https://dl.doubtnut.com/l/_3xhP4ITJBHuk
https://dl.doubtnut.com/l/_KlmoFCFsOscz


D. ( , , )

Answer: A

Watch Video Solution

Cr2O
2 −
7 = 3 Ni = 3 H + = 12

17.  oxidises  to  in acidic medium 


 


Coefficients ,  and  are respectively

A. ( , , )

B. ( , , )

C. ( , , )

D. ( , , )

Answer: D

Watch Video Solution

MnO
−
4 H2O2 O2

xMnO
−
4 + yH2O2 + zH + → Mn2 + + O2 + H2O

x y z

x = 1 y = 2 z = 3

x = 3 y = 2 z = 5

x = 2 y = 6 z = 5

x = 2 y = 5 z = 6

https://dl.doubtnut.com/l/_KlmoFCFsOscz
https://dl.doubtnut.com/l/_6hdkkEl3dYg6


18. What is the molecular state of sulphur as reactant in, sulphur

?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+12OH − → 4S2 − + 2S2O
2 −
3 + 3H2O

S2 −
8

2S3 −
4

S8

S −
8

19. In the following balanced reaction, 

A.  and species is oxide

B.  and species is superoxide

4Ox
2 + 2H2O → 4OH − + 3O2

x = − 4

x = − 2

https://dl.doubtnut.com/l/_QdW0qK0KBGuM
https://dl.doubtnut.com/l/_hD3z6ZhjouiQ


C.  and species is oxygen

D.  and species is superoxide

Answer: D

Watch Video Solution

x = 0

x = − 1

20. In balancing the half reaction 

(skeltan) 


The number of electrons that must be added is

A. 

B.  on the right

C.  on the left

D.  on the right

Answer: D

Watch Video Solution

CN ө → CNOө

0

1

1

2

https://dl.doubtnut.com/l/_hD3z6ZhjouiQ
https://dl.doubtnut.com/l/_suXPHmq4GEso


Watch Video Solution

21. In the following equation: 

, then  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CIO−
3 + 6H + + . X → Cl− + 3H2O X

O

6e−

O2

6e−

22.  reduces  and  and itself oxidised to  in acidic medium.

Thus, final reaction is

A. 

I − IO−
3 I2 I2

I − + IO−
3 + 6H + → I2 + 3H2O

https://dl.doubtnut.com/l/_suXPHmq4GEso
https://dl.doubtnut.com/l/_CaqtClYq4SCf
https://dl.doubtnut.com/l/_mGxbDswJf2KM


B. 

C. 

D. None of them

Answer: B

Watch Video Solution

5I − + IO−
3 + 6H + → 3I2 + 3H2O

I − + IO−
3 → I2 + O3

23. In the reaction 

A. , 

B. , 

C. , 

D. , 

Answer: C

xHI + yHNO3 → NO + I2 + H2O

x = 3 y = 2

x = 2 y = 3

x = 6 y = 2

x = 6 y = 1

https://dl.doubtnut.com/l/_mGxbDswJf2KM
https://dl.doubtnut.com/l/_NElC1bP4TFh1


Watch Video Solution

24. Balance the following equation stepwise: 

A. , 

B. , 

C. , 

D. , 

Answer: B

Watch Video Solution

Cr2O
2 −
7 + Fe2 + + + H ⊕ → Cr3 + + Fe3 + + H2O

6 7

6 14

5 7

5 14

25. Values of , , ,  and  are in the following redox reaction 


A. ( , , , , )

p q r s t

pBr2 + qOH − → rBr− + sBrO−
3 + tH2O

p = 3 q = 6 r = 1 s = 5 t = 3

https://dl.doubtnut.com/l/_NElC1bP4TFh1
https://dl.doubtnut.com/l/_55va2CAQy5aV
https://dl.doubtnut.com/l/_gFZ8hMWkwF7U


B. ( , , , , )

C. ( , , , , )

D. ( , , , , )

Answer: C

Watch Video Solution

p = 3 q = 6 r = 5 s = 3 t = 1

p = 3 q = 6 r = 5 s = 1 t = 3

p = 3 q = 5 r = 1 s = 6 t = 3

26. In the following reaction: 

 


 and  are

A. , 

B. , 

C. , 

D. , 

xKMnO4 + yNH3 → KNO3 + MnO2 + KOH + H2O

x y

x = 4 y = 6

x = 8 y = 3

x = 8 y = 6

x = 3 y = 8

https://dl.doubtnut.com/l/_gFZ8hMWkwF7U
https://dl.doubtnut.com/l/_Oqwk720vm7CF


Answer: B

Watch Video Solution

27.  is dissolved in dil. . Balanced equation with correct

products is

A. 

B. 

C. 

D. None of the above in correct

Answer: B

Watch Video Solution

CuS HNO3

Cus + 2H + + 3NO−
3 → Cu(NO3)2 + H2S + H2O + NO2

3Cus + 8H + + 8NO−
3 → 3Cu(NO3)2 + 3S + 4H2O + 2NO

Cus + 4NO−
3 → Cu(NO3)2 + H2S + H2O

https://dl.doubtnut.com/l/_Oqwk720vm7CF
https://dl.doubtnut.com/l/_c7ihtTROyJ5f


Stoichiometry In Redox Reactions

28. The reaction 

 


is balanced if

A. , 

B. , 

C. , 

D. , 

Answer: B

Watch Video Solution

5H2O2 + XClO2 + 2OH − → XCl− + YO2 + 6H2O

x = 5 y = 2

x = 2 y = 5

x = 4 y = 10

x = 5 y = 5

1. When  is reduced with oxalic acid in acidic solution, the

oxidation number of  changes from

KMnO4

Mn

https://dl.doubtnut.com/l/_LIXxMKJl1zLc
https://dl.doubtnut.com/l/_sJ2CO86K6Neu


A.  to 

B.  to 

C.  to 

D.  to 

Answer: B

Watch Video Solution

7 4

7 2

6 4

4 2

2. Oxidation of thisulphate  ion by iodine gives

A. 

B. 

C. 

D. 

Answer: C

(S2O
2 −
3 )

SO3 −
2

SO
2 −
4

S4O
2 −
6

S2O
2 −
6

https://dl.doubtnut.com/l/_sJ2CO86K6Neu
https://dl.doubtnut.com/l/_Y0lAIPBYAML1


Watch Video Solution

3. The number of moles of  reduced by  of  ions is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

K2Cr2O7 1mol Sn2 +

2/3

1/6

1/3

1

4. Which of the following solutions will exactly oxidize  of an

acid solution of  ( ) oxalate?

A.  of 

25mL

0.1MFe II

25mL 0.1MKMnO4

https://dl.doubtnut.com/l/_Y0lAIPBYAML1
https://dl.doubtnut.com/l/_QDUXAiX8Kfpd
https://dl.doubtnut.com/l/_NhVgCvVDK2Fm


B.  of 

C.  of 

D.  of 

Answer: D

Watch Video Solution

25mL 0.2MKMnO4

25mL 0.6MKMnO4

15mL 0.1MKMnO4

5. How many moles of  will be liberated by one mole of  is the

following reaction: 

A. 

B. 

C. 

D. 

O2 CrO5

CrO5 + H2SO4 → Cr2(SO4)3 + H2O + O2

5/2

5/4

9/2

7/2

https://dl.doubtnut.com/l/_NhVgCvVDK2Fm
https://dl.doubtnut.com/l/_B7pt5pGy9ec3


Answer: D

Watch Video Solution

6.  of  solution of a salt reacted with  of 

solution of sodium sulphite. The half reaction for the oxidation of

sulphite ion is: 

 


If the oxidation number of metal in the salt was , what would be the

new oxidation number of metal:

A. zero

B. 

C. 

D. 

Answer: C

Watch Video Solution

50mL 0.1M 25mL 0.1M

SO2 −
3 (aq) + H2O(l) → (aq) + 2H + (aq) + 2e−

3

1

2

4

https://dl.doubtnut.com/l/_B7pt5pGy9ec3
https://dl.doubtnut.com/l/_9sWCMUD1YV78


Watch Video Solution

7.  of  is taken to prepare  of the solutio.  of

this solution is further taken to oxidise  ion into  so

produced is used in second reaction to prepare  ion then the

millimoles of  ion formed will be (assume all other components

are in sufficient amount)[Molar mass of ].

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

4.9g K2Cr2O7 0.1L 10mL

Sn2 + Sn4 + ion

Fe3 +

Fe3 +

K2Cr2O7 = 294g

5

20

10

https://dl.doubtnut.com/l/_9sWCMUD1YV78
https://dl.doubtnut.com/l/_TKchzMSfEw7Y


8. One gram of  is boiled with excess of solid  in

presence of strong . The iodine evolved is absorbed in 

solution and titrated against  hyposolution. Assuming the

reaction to be 

, 


calculate the volume of thiosilphate hypo consumed. [Atomic weight

of ]

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na3AsO4 KI

HCl KI

0.2N

AsO
3 −
4 + 2H + + 2I − → AsO2 −

3 + H2O + I2

As = 75

48.1mL

38.4mL

24.7mL

30.3mL

https://dl.doubtnut.com/l/_FkacMkfn2LUe


9.  of  solution is added to  of 

 is acid solution. Which of the following statements is

true?

A.  mole of oxygen is liberated

B.  mole of  are left

C.  atom of oxygen gas is evolved

D.  mole  does not react with 

Answer: B

Watch Video Solution

25mL 0.50MH2O2 50mL

0.20MKMnO4

0.010

0.005 KMnO4

0.030g

0.0025 H2O2 KMnO4

10.  of sample of impure potassium dichromate was dissolved in

water and made up to  solution.  of this solution treated

with excess of  in acidic medium and  liberated required 

of a sodium thiosulphate solution.  of this sodium thiosulphate

0.80g

500mL 25mL

KI I2 24mL

30mL

https://dl.doubtnut.com/l/_bgesfuL2seOW
https://dl.doubtnut.com/l/_uv5HHpobZp0D


solution required  of  solution of pure potassium

dichromate. What was the percentage of  in given sample?

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

15mL N /20

K2Cr2O7

73.5 %

75.3 %

36.75 %

11. One mole of  is dissolved in water andexcess of  added. 

 required to react with the oxidised part completely

is

A.  mole

B.  moles

CaOCl2 KI

Hypo(Na2S2O3)

1

2.0

https://dl.doubtnut.com/l/_uv5HHpobZp0D
https://dl.doubtnut.com/l/_5PgYIQi7tloO


C.  moles

D.  moles

Answer: B

Watch Video Solution

1.5

2.5

12. An element  in a compound  has oxidation number . It

is oxidised by  in acid medium. In the experiment 

 moles of  were used for  moles of 

. The new oxidation number of  after oxidation is:

A. 

B. 

C. 

D. 

Answer: B

A ABD An−

Cr2O
2 −
7

1.68 × 10− 3 K2Cr2O7 3.26 × 10− 3

ABD A

3

3 − n

n − 3

+n

https://dl.doubtnut.com/l/_5PgYIQi7tloO
https://dl.doubtnut.com/l/_xOMFn6Zksq55


Watch Video Solution

13. The number of moles of  reduced by  in alkaline

medium is

A. One-fifth

B. five

C. One

D. Two

Answer: D

Watch Video Solution

KMnO4 1mol ofKI

14.  of an oxalate salts was dissolved in  solution. The

solution required  of  for complete oxidation.

The  of oxalate ion in salt is:

0.3g 100mL

90mL N /20KMnO4

%

https://dl.doubtnut.com/l/_xOMFn6Zksq55
https://dl.doubtnut.com/l/_wEdJoH5x3nKp
https://dl.doubtnut.com/l/_qDi9fGbVLf2D


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3.3 %

66 %

70 %

40 %

15. How many litres of a  solution of an oxidising agent are

reduced by  litres of a  solution of a reducing agent?

A. 

B. 

C. 

D. 

0.5N

2 2.0N

8

4

6

7

https://dl.doubtnut.com/l/_qDi9fGbVLf2D
https://dl.doubtnut.com/l/_cd8eeCAcciEO


Answer: A

Watch Video Solution

16. During the disproportionation of  to iodide and iodate ions, the

ratio of iodate and iodide ions formed in alkaline medium is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I2

1: 5

5: 1

3: 1

1: 3

https://dl.doubtnut.com/l/_cd8eeCAcciEO
https://dl.doubtnut.com/l/_DDdE2U3gIuaO


17. If  of  is required to titrate  of a

liquid iron supplement, calculate the concentration of iron in vitamin

solution

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

25.8ml 0.101MK2Cr2O7 10.0ml

0.780M

0.261M

4.35 × 10− 4M

1.56M

18. 

What will be the equivalent mass of As_(2)S_(3)` in the above reaction?

28NO−
3 + 3As2S3 + 4H2O → 6AsO3 −

4 + 28NO + 9SO2 −
4 + H +

https://dl.doubtnut.com/l/_V9DEMljxLvFN
https://dl.doubtnut.com/l/_Vm0h5hFS970C


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

M. wt.

2

M. wt.

4

M. wt.

24

M. wt.

28

19. Moles of  (potassium acid oxalate) required to reduce

100ml of 0.02M  in acidic medium (to ) is :

A. 

B. 

C. 

D. none is correct

KHC2O4

KMnO4 Mn2 +

x = y

2x = y

x = 2y

https://dl.doubtnut.com/l/_Vm0h5hFS970C
https://dl.doubtnut.com/l/_7o1wolHlcshg


Answer: A

Watch Video Solution

20. The number of moles of  that will be needed to react

completely with one mole of ferric sulphite in acidic medium is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

K2Cr2O7

0.4

0.6

1.0

0.8

https://dl.doubtnut.com/l/_7o1wolHlcshg
https://dl.doubtnut.com/l/_hB971W9cRTr4


21.  of mixture of  and  is neutralised by 

of . Hence, NaOH in  solution is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

100mL NaOH Na2SO4 10mL

0.5MH2SO4 100mL

0.2g

0.4g

0.6g

22. A  sample of limestone is dissolved in  and then the

calcium is precipitated as . After filtering and washing the

precipitate, it requires  filtering and washing the precipitate, it

requires  of , solution acidified with 

0.518g HCl

CaC2O4

40.0

40.0mL 0.250NKMnO4 H2SO4

https://dl.doubtnut.com/l/_0TfwlAGCSe3c
https://dl.doubtnut.com/l/_jKKZSctgfEdV


to titrate it as. The percentage fo  in the sample is: 


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CaO

MnO
−
4 + H + + C2O

2 −
4 → Mn2 + + CO2 + 2H2O

54.0 %

27.1 %

42 %

84 %

23.  of a  solution of a stable cation of transition metal 

reacts exactly with  of  acidified  solution.

Which of the following is most likely to represent the change in

oxidation state of  correctly?

A. 

25ml 0.1(M) z

25ml 0.04(M) KMnO4

Z

Z + → Z2 +

https://dl.doubtnut.com/l/_jKKZSctgfEdV
https://dl.doubtnut.com/l/_VeP3pXCXxUgT


B. 

C. 

D. 

Answer: D

Watch Video Solution

Z2 + → Z3 +

Z3 + → Z4 +

Z2 + → Z4 +

24. For decolourisation of , the moles of 

required is

A. 

B. 

C. 

D. 

Answer: C

1mol ofKMnO4 H2O2

1/2

3/2

5/2

7/2

https://dl.doubtnut.com/l/_VeP3pXCXxUgT
https://dl.doubtnut.com/l/_PdCeTZe9sq8Z


Watch Video Solution

25. In alkaline medium,  oxidises  and is itself reduced

to . How many moles of  are oxidised by  ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ClO2 H2O2toO2

Clө H2O2 1mol of ClO2

1.0

1.5

2.5

3.5

26. If equal volumes of  and  solutions

are allowed to oxidise  to  in acidic medium, then 

oxidised will be:

0.1MKMnO4 0.1MK2Cr2O7

Fe2 + Fe3 + Fe2 +

https://dl.doubtnut.com/l/_PdCeTZe9sq8Z
https://dl.doubtnut.com/l/_Icyw4K8YGNLI
https://dl.doubtnut.com/l/_rHBvkVGKNOQQ


A. more by 

B. more by 

C. equal in both cases

D. can't be determined

Answer: B

Watch Video Solution

KMnO4

K2CrO7

27. If  of  is dissolved in acid and is reduced to  by zinc

metal, how many mole  could be reduced by the resulting solution if

it is further oxidised to  ions? [Assume no change in state of 

 ions] ( , , )

A.  mole of 

B.  mole of 

C.  mole of 

10g V2O5 V 2 +

I2

VO2 +

Zn2 + V = 51 O = 16 I = 127

0.11 I2

0.22 I2

0.055 I2

https://dl.doubtnut.com/l/_rHBvkVGKNOQQ
https://dl.doubtnut.com/l/_tcReXvhax2Fd


D.  mole of 

Answer: A

Watch Video Solution

0.44 I2

28.  of acid (mol. Wt. ) was exactly neutralized by  of 

. 


The basicity of the given acid is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0.45g = 90 20ml

0.5(M)NaOH

1

2

3

4

https://dl.doubtnut.com/l/_tcReXvhax2Fd
https://dl.doubtnut.com/l/_svvnSGqkgfa0


29. During the oxidation of arsenite to arsenate ion in alkaline

medium, the number of moles of hydroxide ions involved per mole of

arsenite ion are

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

2

3

2/3

30.  (purple) is reduced to  (green) by  in

basic medium.  mole of  is reduced by

A.  mole of 

KMnO4 K2MnO4 SO2 −
3

1 KMnO4

1 SO2 −
3

https://dl.doubtnut.com/l/_5tzrQUD9fPtQ
https://dl.doubtnut.com/l/_LPgRimMqlMNh


B.  mole of 

C.  mole of 

D.  mole of 

Answer: D

Watch Video Solution

2 SO2 −
3

1.5 SO2 −
3

0.5 SO2 −
3

31. In an experiment  of  solution of a salt is reacted with 

 of  solution of sodium sulphite. The half equation for

the oxidation of sulphite ion is

 If the oxidation

number of metal in the salt was , what would be the new oxidation

number of metal?

A. 

B. 

50ml 0.1(M)

25ml 0.1(M)

SO2 −
3 (aq) + H2O → SO

2 −
4 (aq) + 2H + (aq) + 2e−

3

0

1

https://dl.doubtnut.com/l/_LPgRimMqlMNh
https://dl.doubtnut.com/l/_ffwcMHzDIP9i


C. 

D. 

Answer: C

Watch Video Solution

2

4

32. How many litres of  at STP will be liberated by the oxidation of 

 with  in acidic medium: (Atomic weight: 

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

Cl2

NaCl 10gKMnO4

Mn = 55 and K = 39)

3.54litres

7.08litres

1.77litres

https://dl.doubtnut.com/l/_ffwcMHzDIP9i
https://dl.doubtnut.com/l/_LzHa6TCQHwwo


Watch Video Solution

33. When the ion  acts as an oxidant in acidic aqueous

solution the ion  is formed. How many mole of  would be

oxidised to  by one mole  ion:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cr2O
2 −
7

Cr3 + Sn2 +

Sn4 + Cr2O
2 −
7

2/3

3/2

2

3

34.  (  mole) in neutral aqueous medium is disproportionate

to

MnO
2 −
4 1

https://dl.doubtnut.com/l/_LzHa6TCQHwwo
https://dl.doubtnut.com/l/_7M358t3mog3X
https://dl.doubtnut.com/l/_R10YKfgL1U1H


A.  mole of  and  mole of 

B.  mole of  and  mole of 

C.  mole of  and  mole of 

D.  mole of  and  mole of 

Answer: A

Watch Video Solution

2/3 MnO
−
4 1/3 MnO2

1/3 MnO
−
4 2/3 MnO2

1/3 Mn2O7 1/3 MnO2

2/3 Mn2O7 1/3 MnO2

35. What volume of  molar  is needed to oxidise  of , 

 gets converted to  ?

A. 

B. 

C. 

D. 

3 HNO3 8g Fe3 +

HNO3 NO

8ml

15.87ml

32ml

64ml

https://dl.doubtnut.com/l/_R10YKfgL1U1H
https://dl.doubtnut.com/l/_h13tlxg2oKSC


Answer: B

Watch Video Solution

36. The number of moles of  that will be needed to react with

one mole of ferrous sulphite in acidic solution is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

KMnO4

0.6

0.4

0.8

1.0

https://dl.doubtnut.com/l/_h13tlxg2oKSC
https://dl.doubtnut.com/l/_uexRVIYMWfMn


37. How many litres of  at STP will be liberated by the oxidation of 

 with  in acidic medium: (Atomic weight: 

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

Cl2

NaCl 10gKMnO4

Mn = 55 and K = 39)

3.54litres

7.08litres

1.77litres

38.  oxidies  ions to nitrogen and itself gets reduced to 

. The moles of  required by 1 mole of  is:

A. 

HNO3 NH
+

4

NO2 HNO3 (NH4)2SO4

4

https://dl.doubtnut.com/l/_B6hg5aUF59XX
https://dl.doubtnut.com/l/_Da4IE1HQynpy


B. 

C. 

D. 

Answer: C

Watch Video Solution

5

6

2

39. What volume (in ml) at  of  gas is oxidized by  of 

 in acid solution?

A. 

B. 

C. 

D. 

Answer: A

STP SO2 100ml

0.1(M)H2Cr2O7

672ml

224ml

448ml

112ml

https://dl.doubtnut.com/l/_Da4IE1HQynpy
https://dl.doubtnut.com/l/_CACQtsfQk8En


Watch Video Solution

40. What mass of  can be oxidised to  by  of 

which is reduced to ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N2H4 N2 24g K2CrO4

Cr(OH)
−
4

2.969g

5.25g

9.08g

29.69g

41. The number of mole of oxalate ions oxidised by one mole of

 ion is:

A. 

MnO
−
4

1/5

https://dl.doubtnut.com/l/_CACQtsfQk8En
https://dl.doubtnut.com/l/_gVVVrbrW20wm
https://dl.doubtnut.com/l/_o4Vv6mnEtwcC


B. 

C. 

D. 

Answer: C

Watch Video Solution

2/5

5/2

5

42. Starch iodide paper is used to test for the presence of

A. Reducing agent

B. Oxidising agent

C. Iodide ion

D. Iodine

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_o4Vv6mnEtwcC
https://dl.doubtnut.com/l/_197iRzxpwWWA


43. What weight of  is needed to convert  of iodine into iodic

acid according to the reaction, 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

HNO3 5g

I2 + HNO3 → HIO3 + NO2 + H2O

12.205g

24.8g

0.248g

49.6g

44. The molar ration of  to  in a mixture of  and

 having equal number of sulphate ions in both ferrous and

ferric sulphate is:

Fe+ + Fe+ + + FeSO4

Fe2(SO4)3

https://dl.doubtnut.com/l/_197iRzxpwWWA
https://dl.doubtnut.com/l/_VKD2IkaGvUVE
https://dl.doubtnut.com/l/_xi2QH2IL7qnO


Type Of Redox Reaction And Equivalent Weight

A. 

B. 

C. 

D. can't be determined

Answer: B

Watch Video Solution

1: 2

3: 2

2: 3

1. Which is the best description of the behaviour of bromine in the

reaction given below 

A. Oxidised only

B. Reduced only

H2O + Br2 → HOBr + HBr

https://dl.doubtnut.com/l/_xi2QH2IL7qnO
https://dl.doubtnut.com/l/_3Z3MhancLunf


C. Proton acceptor only

D. Both oxidised and reduced

Answer: D

Watch Video Solution

2. Equivalent weight of  as a base is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3

17

17/3

1.7

17/2

https://dl.doubtnut.com/l/_3Z3MhancLunf
https://dl.doubtnut.com/l/_CHdSMvhB9iXO
https://dl.doubtnut.com/l/_16wGrjlqG37X


3. Equivalent weight of  is equal to molar mass in the

following reaction. 

 


Thus, species ( ) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C6H5CHO

A

https://dl.doubtnut.com/l/_16wGrjlqG37X


4. In the reaction , the eq.wt. of 

is equal to its

A. Mol.Wt.

B. Mol.Wt.

C. Mol.Wt.

D. None of these

Answer: C

Watch Video Solution

VO + Fe2O3 → FeO + V2O5 V2O5

/8

/6

5. Equivalent weight of  in a reaction is found to be half of its

molecular weight. It can be due to its

A. oxidation to 

B. reaction of two  ions

H3PO2

H3PO3

H +

https://dl.doubtnut.com/l/_MSkLIMsgQUOv
https://dl.doubtnut.com/l/_Uzjf9AP9jKkn


C. oxidation to 

D. reduction to 

Answer: A

Watch Video Solution

H3PO4

PH3

6. The eq.wt. of , the salt to be used as an oxidant in an

acid solution is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Fe2(SO4)3

(mol. wt. ) /1

(mol. wt. ) /2

(mol. wt. ) /3

(mol. wt. ) /5

https://dl.doubtnut.com/l/_Uzjf9AP9jKkn
https://dl.doubtnut.com/l/_SEFeRrVybt6k


7. The equivalent weight of  in the change 


 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

FeC2O4

FeC2O4 → Fe3 + + CO2

M

M /2

M /3

2M /3

8. What volume of  measured at standard condition will be formed

by the action of  of  on hydrogen peroxide in an

acid solution? 

The skeleton equation for the reaction is, 

O2

100mL 0.5NKMnO4

KMnO4 + H2SO4 + H2O2 → KHSO4 + MnSO4 + H2O + O2

https://dl.doubtnut.com/l/_Fi8JpijlLnQg
https://dl.doubtnut.com/l/_g08xwU856b52


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0.12L

0.28L

0.56L

1.12L

9. The equivalent weight of  is half its molecular weight when

it is converted to

A. 

B. 

C. 

D. 

MnSO4

Mn2O3

MnO2

MnO
−
4

MnO
2 −
4

https://dl.doubtnut.com/l/_g08xwU856b52
https://dl.doubtnut.com/l/_b3bKBX2qT8Qo


Answer: B

Watch Video Solution

10. Equivalent weight of  in the following reaction is 


 


(  of )

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

K2Cr2O7

Cr2O
2 −
7 Fe2 + → Fe3 +Cr3 +

M = molarmass K2Cr2O7

M

3

M

6

M

5

M

4

https://dl.doubtnut.com/l/_b3bKBX2qT8Qo
https://dl.doubtnut.com/l/_7P9yPVCsAKhv


11. Which of the following reaction is a redox reaction?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P2O5 + 2H2O → H4P2O7

2AgNO3 + BaCl2 → 2AgCl + Ba(NO3)2

BaCl2 + H2sO4 → BaSO4 + 2HCl

Cu + 2AgNO3 → 2Ag + Cu(NO3)2

12. In the equation  The

equivalent weight of hydrogen sulphide is

A. 

B. 

C. 

H2S + 2HNO3 → 2H2O + 2NO2 + S

17

68

34

https://dl.doubtnut.com/l/_OZce1GBMkFZH
https://dl.doubtnut.com/l/_4f80ixwtiedc


D. 

Answer: A

Watch Video Solution

16

13. In the following reaction, 

 


One equivalent of  will reduce

A.  mol 

B.  mol 

C.  mol 

D.  mol 

Answer: B

Watch Video Solution

2H2S(g) + SO2(g) → 3S(s) + 2H2O(l)

H2S(g)

1 SO2

0.25 SO2

0.5 SO2

2 SO2

https://dl.doubtnut.com/l/_4f80ixwtiedc
https://dl.doubtnut.com/l/_r8QOIhib68ds


14.  moles of  will react with how many equivalent of 

?

A.  equivalent

B.  equivalent

C.  equivalent

D.  equivalent

Answer: B

Watch Video Solution

0.05 NaHCO3

Mg(OH)2

0.2

0.05

0.02

0.01

15. Equivalent weight of  in  is 

A. 

B. 

C. 

S SO2 −
3 (S = 32)

6

8

9

https://dl.doubtnut.com/l/_uNbALy3c51Dy
https://dl.doubtnut.com/l/_rSxtmBHd9xAF


D. 

Answer: B

Watch Video Solution

4

16. The equivalent weight of  is half its molecular weight when

it is converted to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

MnSO4

Mn2O3

MnO
−
4

MnO2

MnO
2 −
4

https://dl.doubtnut.com/l/_rSxtmBHd9xAF
https://dl.doubtnut.com/l/_U6qE1U4Jn9TH
https://dl.doubtnut.com/l/_2KSbMWgEswRH


17. In the reaction, 

. 

Equivalent wieght of iodine will be equal to

A. its molecular weight

B.  of its molecular weight

C.  of its molecular weight

D. twice of its molecular weight

Answer: B

Watch Video Solution

I2 + 2S2O
2 −
3 → 2I − + S4O

2 −
6

1/2

1/4

18. Which has maximum number of equivalent per mole of the

oxidant?

A. 

B. 

I − (aq) + IO−
3 (aq) → I −

3 (aq)

Ag(s) + NO−
3 (aq) → NO2(g) + Ag+ (aq)

https://dl.doubtnut.com/l/_2KSbMWgEswRH
https://dl.doubtnut.com/l/_swfA2FzrYUBy


C. 

D. 

Answer: A

Watch Video Solution

Mg(s) + VO
3 −
4 (aq) → Mg2 + (aq) + V 3 + (aq)

Zn(s) + VO2 + (aq) → V 3 + (aq) + Zn2 + (aq)

19. The equivalent weight of 's salt . . 

in redox change is equal to its

A. molecular weight

B. atomic weight

C. molecular weight

D. molecular weight

Answer: D

Watch Video Solution

Mohr FeSO4 (NH4)2SO4 6H2O

/2

/3

https://dl.doubtnut.com/l/_swfA2FzrYUBy
https://dl.doubtnut.com/l/_UbAnYuARmcoN


20. In alkaline medium ,  reacts as follows 


 


Therefore, the equivalent mass of  will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

KMnO4

2KMnO4 + 2KOH → 2K2MnO4 + H2O + O

KMnO4

31.6

52.7

7.0

158.0

21. An element forms an oxide, in which the oxygen is  of the

oxide by weight, the equivalent weight of the given element will be

A. 

20 %

32

https://dl.doubtnut.com/l/_pZKucSLtwmUR
https://dl.doubtnut.com/l/_OsqSTJvEo6WM


B. 

C. 

D. 

Answer: A

Watch Video Solution

40

60

128

22. Photosynthesis of carbohydrates in plants takes place as 

 


Equivalent weights of  and  respectively are

A. , 

B. , 

C. , 

D. , 

6CO2 + 12H2O
Sunlight

−−−−→ C6H12O6 + 6O2 + 6H2O

CO2 C6H12O6

11 7.5

44 90

22 15

44 180

https://dl.doubtnut.com/l/_OsqSTJvEo6WM
https://dl.doubtnut.com/l/_0lVpctMgA7Yr


Answer: A

Watch Video Solution

23. The equivalent weight of phosphoric acid  in the

reaction  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(H3PO4)

NaOH + H3PO4 → NaH2PO4 + H2O

25

98

59

49

https://dl.doubtnut.com/l/_0lVpctMgA7Yr
https://dl.doubtnut.com/l/_ML6tALn249A2


24. The equivalent weight of  in the reaction 

 is

A. 

B. 

C. 

D. Molecular weight

Answer: A

Watch Video Solution

KIO3

2Cr(OH)3 + 4OH + KIO3 → 2CrO2 −
4 + 5H2O + KI

Mol. wt.

3

Mol. wt.

6

Mol. wt.

2

25. What is the equivalent weight of  in the given reaction? 


A. 

B. 

HNO3

4Zn + 10HNO3 → 4Zn(NO3)2 + NH4NO3 + 3H2O

63

10

63

9

https://dl.doubtnut.com/l/_GU7kEL1RJssX
https://dl.doubtnut.com/l/_ZqSd3zPEMUK7


C. 

D. 

Answer: C

Watch Video Solution

× 10
63

8

× 14
63

4

26. In the following reaction (unbalanced), equivalent weight of 

is related to molecular weight  by 


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

As2S3

M

As2S3 + H + NO−
3 → NO + H2O + AsO

3 −
4 + SO

2 −
4

M

2

M

4

M

28

M

24

https://dl.doubtnut.com/l/_ZqSd3zPEMUK7
https://dl.doubtnut.com/l/_a2SmjqMYPBqt


Watch Video Solution

27. What is the equivalent weight of  in the following

reaction? 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C12H22O11

C12H22O11 + 36HNO3 → 6H2C2O4 + 36NO2 + 23H2O

342

36

342

12

342

22

342

3

28. In the following disproportionation of  in basic medium 

 


Equivalent mass of  is

Cl2

Cl2 + 2KOH → KCl + KClO + H2O

Cl2

https://dl.doubtnut.com/l/_a2SmjqMYPBqt
https://dl.doubtnut.com/l/_w4FFYlsQBolF
https://dl.doubtnut.com/l/_JBA2x6OEB4K2


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

35.50

71.00

47.33

11.83

29. What is the equivalent weight of  in the following reaction? 


A. 

B. 

C. 

D. 

P

P4 + NaOH → NaH2PO2 + PH3

31

4

31

3

31

2

31 × 4/3

https://dl.doubtnut.com/l/_JBA2x6OEB4K2
https://dl.doubtnut.com/l/_i4uyALy9xzEU


Answer: D

Watch Video Solution

30. Equivalent mass of oxidizing agent in the reaction, 

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

SO2 + 2H2S → 3S + 2H2O

32

64

16

8

https://dl.doubtnut.com/l/_i4uyALy9xzEU
https://dl.doubtnut.com/l/_u0b1IHeg8Oc4


31. Equivalent weight of  when it disproportionates into 

and  is (mol.wt. of )

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H3PO2 PH3

H3PO3 H3PO2 = M

M

3M

4

M

2

M

4

32. In the following unbalanced redox reaction, 

 


Equivalent weight of  is

A. 

Cu3P + Cr2O
2 −
7 → Cu2 + + H3PO4 + Cr3 +

H3PO4

M

3

https://dl.doubtnut.com/l/_8zF41BcFkHd3
https://dl.doubtnut.com/l/_jisq5Bdx7UCN


B. 

C. 

D. 

Answer: D

Watch Video Solution

M

6

M

7

M

8

33.  of  solution contains  equiv. of .  of

the given solution contain, how many moles of ? 


A. 

B. 

C. 

D. 

5L KMnO4 0.01 KMnO4 50ml

KMnO4

KMnO4 → MnO2

10− 6

4

10− 4

3

3 × 10− 5

10− 5

https://dl.doubtnut.com/l/_jisq5Bdx7UCN
https://dl.doubtnut.com/l/_UmnmO6VtApVx


Answer: B

Watch Video Solution

34. What is the equivalent mass of  when it is converted into 

in acid medium ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

IO
−
4 I2

M /6

M /7

M /5

M /4

https://dl.doubtnut.com/l/_UmnmO6VtApVx
https://dl.doubtnut.com/l/_TsADlszvfESB


35. The reaction 

 


is an example of

A. Oxidation reaction

B. reduction reaction

C. disproportionation reaction

D. decomposition reaction

Answer: C

Watch Video Solution

3ClOө (aq) → ClO3(aq) + 2Clө (aq)

36. Which reaction does not represent auto-redox or

disproportionation?

A. Cl2 + OH − → Cl− + ClO−
3 + H2O

https://dl.doubtnut.com/l/_8NsufjqDhhCk
https://dl.doubtnut.com/l/_Q5HqtB8ZEvI1


B. 

C. 

D. 

Answer: D

Watch Video Solution

2H2O2 → H2O + O2

2Cu+ → Cu2 + + Cu

(NH4)2Cr2O7 → N2 + Cr2O3 + 4H2O

37. Which of the following species does not show disproportionation

reaction?

A. 

B. 

C. 

D. 

Answer: A

ClO
−
4

ClO−
2

ClO−
3

ClO−

https://dl.doubtnut.com/l/_Q5HqtB8ZEvI1
https://dl.doubtnut.com/l/_UsiMb966IrkN


Watch Video Solution

38. Among the following select the disproportionation reaction ? 

(i)  


(ii)  


(iii)  


(iv) 

A. 

B. 

C. 

D. All of these

Answer: B

Watch Video Solution

2Pb(NO3)2 → 2PbO + 4NO2 + O2

I2 → I − + IO−
3

3Cl2 + 6NaOH → 5NaCl + NaClO3 + 3H2O

P4 + 3NaOH + 3H2O → 3NaH2PO2 + PH3

(i), (ii), (iii)

(ii), (iii), (iv)

(i), (iii), (iv)

https://dl.doubtnut.com/l/_UsiMb966IrkN
https://dl.doubtnut.com/l/_JRKNwJRb22Cg


39. Which is the intramolecular oxidation-reduction reaction?

A. 

B. 

C. 

D. All of the above

Answer: D

Watch Video Solution

2KClO3 → 2KCl + 3O2

(NH4)2Cr2O7 → N2 + CrO3 + 4H2O

PCl5 → PCl3 + Cl2

40. Based on the following reaction, 

( ) 


It can be concluded that

A. oxidising power of  is grater than that of 

XeO4 −
6 (aq) + 2F − (aq) + 6H + (aq) → XeO3(aq) + F2(g) + 3H2O(l)

Δ(G) ∘ < o

F − XeO4 −
6

https://dl.doubtnut.com/l/_GzPQW0XHdfIu
https://dl.doubtnut.com/l/_RglMg5Y1MZo6


B. it is not a redox reaction

C. it is a disproportionation reaction

D. oxidising power of  is greater than that of 

Answer: D

Watch Video Solution

XeO4 −
6 F −

41. Equivalent weight of  in the change 


 is

A. 

B. 

C. 

D. 

Answer: A

N2

N2 → NH3

28/6

28

28/2

28/3

https://dl.doubtnut.com/l/_RglMg5Y1MZo6
https://dl.doubtnut.com/l/_dG19zlhjxco6


Section B Assertion Reasoning

Watch Video Solution

42. What is the equivalent weight of  in the given reaction? 


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NH3

3CuO + 2NH3 → 3Cu + N2 + 3H2O

17

17

4

17

2

17

3

https://dl.doubtnut.com/l/_dG19zlhjxco6
https://dl.doubtnut.com/l/_puQJwV8hxPqH


1. Assertion (A):  and  are both bleaching agents. 


Reason (R ): Both are reducing agents.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

SO2 Cl2

2. Assertion(A): Fluorine exists only in  oxidation state. 


Reason(R): Fluorine has configuration.

−1

2s22p5

https://dl.doubtnut.com/l/_3hLhTqrSHTaL
https://dl.doubtnut.com/l/_NymPeTEZFOMO


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

3. Assertion: Stannous chloride is a powerful oxidising agent which

oxidises mercuric chloride to mercury 

Reason: Stannous chloride gives grey precipitate with mercuric

chloride, but stannic chloride does not do so.

https://dl.doubtnut.com/l/_NymPeTEZFOMO
https://dl.doubtnut.com/l/_RUBurj9PqnzI


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

4. Assertion:  is a stronger acid than . 


Reason: Oxidation state of  in  is  and in .

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

HClO4 HClO3

Cl HClO4 +V II HClO3 + V

https://dl.doubtnut.com/l/_RUBurj9PqnzI
https://dl.doubtnut.com/l/_CvlVGuFN8HoN


B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

5. Assertion: Copper liberates hydrogen from a solution of dilute

hydrochloric acid. 

Reason: Hydrogen is above copper in the electro- chemical series.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

https://dl.doubtnut.com/l/_CvlVGuFN8HoN
https://dl.doubtnut.com/l/_XyQ6BCEyfGqv


C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

6. Assertion: Reaction of white phosphorus with  gives 

. 


Reason: The reaction is disproportionation of  in alkaline medium.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

NaOH(aq)

PH3

P

https://dl.doubtnut.com/l/_XyQ6BCEyfGqv
https://dl.doubtnut.com/l/_6SjCVqCLslbo


Answer: A

Watch Video Solution

7. Assertion: The passage of  through aqueous solution of 

gives yellow turbidty of  in solution. Reason: The yellow turbidity of 

 is in colloidal state due to oxidation of  by .

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

H2S SO2

S

S H2S SO2(aq)

https://dl.doubtnut.com/l/_6SjCVqCLslbo
https://dl.doubtnut.com/l/_oJR3BtqIzLLR


8. Assertion: Bleaching action of  is temporary whereas bleaching

action of  is permanent. 


Reason: Bleaching by  and  is due to oxidation.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

SO2

Cl2

SO2 Cl2

https://dl.doubtnut.com/l/_oJR3BtqIzLLR
https://dl.doubtnut.com/l/_cOmtkZEBobSf


9. Assertion: Conversation of black lead painting is made to white by

the action of . 


Reason: Sulphur is oxidised to 

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

H2O2

SO
2 −
4

10. Assertion:  on decomposition undergoes disproportionation.

Reason:  undergoes intermolecular redox reaction.

CrO5

CrO5

https://dl.doubtnut.com/l/_9IffkZEDlrok
https://dl.doubtnut.com/l/_NROf4yNDMZb2


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

11. Assertion:  on heating give . 


Reason:  on heating shows disproportionation.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

NH4NO3 N2O

NH4NO3

https://dl.doubtnut.com/l/_NROf4yNDMZb2
https://dl.doubtnut.com/l/_Ao4J4s7elXjQ


B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

12. Assertion: In azide ion average oxidation number of  is . 

Reason: In azide ion two  atoms have zero oxidation number and

one has oxidation number .

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

N −1/3

N

−1

https://dl.doubtnut.com/l/_Ao4J4s7elXjQ
https://dl.doubtnut.com/l/_gFyJdBTcdb6h


C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

13. Assertion: Oxygen atom in both  and  has oxidation number

zero. 

Reason: In , oxidation number of  is .

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

O2 O3

Fe2O O +2

https://dl.doubtnut.com/l/_gFyJdBTcdb6h
https://dl.doubtnut.com/l/_SOfaTYx7rLj9


Answer: B

Watch Video Solution

14. Assertion:  atom has two different oxidation states in .

Reason: One  atom has  oxidation number as it is attached with

less electronegative  atom and other has  oxidation number as

it is attached with more electronegative atom.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

N NH4NO2

N −ve

H +ve

https://dl.doubtnut.com/l/_SOfaTYx7rLj9
https://dl.doubtnut.com/l/_qQRPYwCuJePP


Watch Video Solution

15. Statement  is autoredox change. 


Explanation One oxygen atom is oxidised and one oxygen atom is

reduced.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

2H2O2 → 2H2O + O2

https://dl.doubtnut.com/l/_qQRPYwCuJePP
https://dl.doubtnut.com/l/_ZLSEr7yYqFy2
https://dl.doubtnut.com/l/_M3ak9oqangE0


16. Statement  and  both are called vanadyl ions.

Explanation  is dioxovanadium  ion and  is

oxovanadium (IV) ion.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

VO+
2 VO2 +

VO+
2 (V ) VO2 +

17. Assertion: In the reaction,

3As2S3 + 28HNO3 + 4H2O → 6H3SAsO4 + 9H2SO4 + 28NO

https://dl.doubtnut.com/l/_M3ak9oqangE0
https://dl.doubtnut.com/l/_iSzkrMBrMprB


electrons transferred are . 

Reason: As is oxidised from  to  and sulphur from  to .

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

84

+3 +5 −2 +6

18. Assertion: If a strong acid is added to a solution of potassium

chromate it changes its colour from yellow to orange. 

https://dl.doubtnut.com/l/_iSzkrMBrMprB
https://dl.doubtnut.com/l/_pBHDijfq9zx9


Reason: The colour change is due to the oxidation of potassium

chromate.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

19. Assertion: Nitrous acid ( ) may act as an oxidising as well as

a reducing agent. 

HNO2

https://dl.doubtnut.com/l/_pBHDijfq9zx9
https://dl.doubtnut.com/l/_Kl68UZac2Hkf


Reason: The oxidation number of nitrogen remains same in all the

compounds.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

20. Assertion: A reducing agent is a substance which can donate

electron. 

https://dl.doubtnut.com/l/_Kl68UZac2Hkf
https://dl.doubtnut.com/l/_xOSLdnRopjo9


Reason: A substance which helps in oxidation is known as reducing

agent.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

21. Assertion: In the redox reaction

.

the reducing agent is . 


8H + (aq) + 4NO−
3 + 6Cl− + Sn(s) → SnCl2 −

6 + 4NO2 + 4H2O

Sn(s)

https://dl.doubtnut.com/l/_xOSLdnRopjo9
https://dl.doubtnut.com/l/_6pBl17Ov8Nsb


Reason In balacing half-reaction, , the number of

electrons added on the left is .

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

S2O
2 −
3 → S(s)

4

22. Assertion: Among , ,  and , the ions that cannot

act as oxidising agents are  and . 


Reason:  and  cannot be reduced.

Br− O2 −
2 H − NO−

3

Br− H −

Br− H −

https://dl.doubtnut.com/l/_6pBl17Ov8Nsb
https://dl.doubtnut.com/l/_4NXvNXIxiUuA


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

23. Assertion: In the reaction,

, 

acts as oxidising agent. 

Reason: In the above reaction, - factor is .

MnO
−
4 + 5Fe2 + + 8H + → Mn2 + + 5Fe3 + + 4H2O MnO

−
4

n 5

https://dl.doubtnut.com/l/_4NXvNXIxiUuA
https://dl.doubtnut.com/l/_OeSZK9kUsp9u


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

24. Assertion: If  of  is added to  of 

 solution. Then the resulting solution is acidic. 


Reason: If milliequivalent of acid is greater than milliequivalents of

base, then upon mixing the solution is acidic.

200mL 0.1NNaOH 200mL

0.1NH2SO4

https://dl.doubtnut.com/l/_OeSZK9kUsp9u
https://dl.doubtnut.com/l/_0QlFuNuWcqXH


A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

25. Assertion: Equivalent weight of  in the reaction, 

 Oxidising agent  is , where  is

molar mass of .


Reason: In theabove reaction, total two mole of electrons are given up

by  of  to the oxidising agent.

FeC2O4

FeC2O4 + → Fe3 + + CO2 M /3 M

FeC2O4

1mole FeC2O4

https://dl.doubtnut.com/l/_0QlFuNuWcqXH
https://dl.doubtnut.com/l/_2Crm6zysJQiw


Aipmt Neet Questions

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true but reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

1.  gives  gas with  and  but not with 

because

A.  acts as an oxidising agent when it reacts with 

Zn H2 H2SO4 HCl HNO3

Zn HNO3

https://dl.doubtnut.com/l/_2Crm6zysJQiw
https://dl.doubtnut.com/l/_HeWnPRWySvcb


B.  is weaker acid than  and 

C. In electrochemical series,  is above hydrogen

D.  is reduced in preference to hydronium ion.

Answer: D

Watch Video Solution

HNO3 H2SO4 HCl

Zn

NOΘ
3

2. The oxidation states of sulphur in the anions , and 

 follow the order

A. 

B. 

C. 

D. 

Answer: A

SO2 −
3 , S2O

2 −
4

S2O
2 −
6

S2O
2 −
4 < SO2 −

3 < S2O
2 −
6

SO2 −
3 < S2O

2 −
4 < S2O

2 −
6

S2O
2 −
4 < S2O

2 −
6 < SO2 −

3

S2O
2 −
6 < S2O

2 −
4 < SO2 −

3

https://dl.doubtnut.com/l/_HeWnPRWySvcb
https://dl.doubtnut.com/l/_Nc9zqnkfjoTM


Watch Video Solution

3. Which is the best description of the behaviour of bromine in the

reaction given below 

A. Proton acceptor only

B. Both oxidised and reduced

C. Oxidised only

D. Reduced only

Answer: B

Watch Video Solution

H2O + Br2 → HOBr + HBr

4. Oxidation numbers of P in , of S in , and that of  in 

 are respectively ,

PO
3 −
4 SO

2 −
4 Cr

Cr2O
2 −
7

https://dl.doubtnut.com/l/_Nc9zqnkfjoTM
https://dl.doubtnut.com/l/_l5uVfyNhaMFe
https://dl.doubtnut.com/l/_OSPvI306mxjJ


A. , , 

B. , , 

C. , , 

D. , , 

Answer: D

Watch Video Solution

−3 +6 +6

+5 +3 +6

+3 +6 +5

+5 +6 +6

5. Oxidation no. of  in , , and  are

respectively

A. , , 

B. , , 

C. , , 

D. , , 

P H4P2O5 H4P2O6 H4P2O7

+3 +4 +5

+4 +3 +5

+3 +5 +4

+5 +3 +4

https://dl.doubtnut.com/l/_OSPvI306mxjJ
https://dl.doubtnut.com/l/_9ciN6P2iRHJS


Answer: A

Watch Video Solution

6. The most common and stable oxidation state of a lanthanide is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4

2

5

3

7. Standard reduction potentails of the half reactions are given below:

 
F2(g) + 2e− → 2F − (aq. ), , E ɵ = + 2.87

https://dl.doubtnut.com/l/_9ciN6P2iRHJS
https://dl.doubtnut.com/l/_ugUOwCVtCfIZ
https://dl.doubtnut.com/l/_RlajpBIYW3UX


 


 


 


The strongest oxidizing and reducing agents respectively are:

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

Cl2(g) + 2e− → 2Cl− (aq. ), , E ɵ = + 1.36V

Br2(g) + 2e− → 2Br− (aq. ), , E ɵ = + 1.09V

I2(s) + 2e− → 2l− (aq. ), , E ɵ = + 0.54V

F2 I −

Br2 Cl−

Cl2 Br−

Cl2 I2

8. In which of the following compounds, nitrogen exhibits the highest

oxidation state?

A. N3H

https://dl.doubtnut.com/l/_RlajpBIYW3UX
https://dl.doubtnut.com/l/_K5NyLhR37zAG


B. 

C. 

D. 

Answer: A

Watch Video Solution

NH2OH

N2H4

NH3

9. When  gas reacts with hot and concentrated sodium hydroxide

solution, the oxidation number of chlorine changes from

A. Zero to  and zero to 

B. Zero to  and zero to 

C. Zero to  and zero to 

D. Zero to  and zero to 

Answer: D

Cl2

−1 +3

+1 −3

+1 −5

−1 +5

https://dl.doubtnut.com/l/_K5NyLhR37zAG
https://dl.doubtnut.com/l/_P8EkG1o3UF3O


Watch Video Solution

10. A mixture of potassium chlorate, oxalic acid and sulphuric acid is

heated. During the reaction which element undergoes maximum

change in the oxidation number?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cl

C

S

H

11. The pair of compounds that can exist together is:

A. , FeCl3 SnCl2

https://dl.doubtnut.com/l/_P8EkG1o3UF3O
https://dl.doubtnut.com/l/_f3pL43HQmt5f
https://dl.doubtnut.com/l/_Xo4H8hKY2psV


B. , 

C. , 

D. , 

Answer: C

Watch Video Solution

HgCl2 SnCl2

FeCl2 SnCl2

FeCl3 KI

12. Role of hydrogen peroxide iin the following reaction is respectively.

 


A. oxidizing in ( ) and reducing in ( )

B. reducing in ( ) and oxidizing in ( )

C. reducing in ( ) and ( )

D. oxidizing in ( ) and ( )

(i)   H2O2 + O3 → H2O + ZO2

(ii)    H2O2 + Ag2O → Aag + H2O + O2

I II

I II

I II

I II

https://dl.doubtnut.com/l/_Xo4H8hKY2psV
https://dl.doubtnut.com/l/_TTOWVfIc38p7


Answer: A

Watch Video Solution

13. In acidic medium,  changes  to  which has two 

 bonds. Oxidation state of Cr in  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2O2 Cr2O
2 −
7 CrO5

( − O − O − ) CrO5

+5

+3

+6

−10

https://dl.doubtnut.com/l/_TTOWVfIc38p7
https://dl.doubtnut.com/l/_0bxnocILIilV


14. The reaction of aqueus  with  in acidic conditions

gives

A.  and 

B.  and 

C.  and 

D.  and 

Answer: B

Watch Video Solution

KMnO4 H2O2

Mn4 + O2

Mn2 + O2

Mn2 + O3

Mn4 + MnO2

15. For the redox reaction 

 


the correct coefficients of the reactions for the balanced reaction are

A. ( , , )

MnO
ө

4 + C2O
2 −
4 + H ⊕ → Mn2 + + CO2 + H2O

1MnO
−
4 = 16 C2O

2 −
4 = 5 H + = 2

https://dl.doubtnut.com/l/_iUMgnR8rNbFB
https://dl.doubtnut.com/l/_CXbAWULWMZnb


B. ( , , )

C. ( , , )

D. ( , , )

Answer: B

Watch Video Solution

1MnO
−
4 = 2 C2O

2 −
4 = 5 H + = 16

1MnO
−
4 = 2 C2O

2 −
4 = 16 H + = 5

1MnO
−
4 = 5 C2O

2 −
4 = 16 H + = 2

16. Which ordering of compound is according to the decreasing order

of the oxidation state of nitrogen?

A. , , ,

B. , , ,

C. , , ,

D. , , , 

Answer: A

HNO3 NO N2 NH4Cl

HNO3 NO NH4ClN2

HNO3 NH4Cl NON2

NH4Cl N2 NO HNO3

https://dl.doubtnut.com/l/_CXbAWULWMZnb
https://dl.doubtnut.com/l/_vrbMVq6kPlce


Aiims Questions

Watch Video Solution

1. Following reaction describes the rusting of iron 

 


Which one of the following statements is incorrect?

A. This is an example of a redox reaction

B. Metallic iron is reduced to 

C.  is an oxidising agent

D. Metallic iron is a reducing agent

Answer: B

Watch Video Solution

4Fe + 3O2 → 4Fe3 + + 6O2 −

Fe3 +

Fe3 +

https://dl.doubtnut.com/l/_vrbMVq6kPlce
https://dl.doubtnut.com/l/_PCm2gbnaFII9


2. Identify the correct statement about 

A. It acts as reducing agent only

B. It acts as both ocidising and reducing agent

C. It is neither an oxidiser nor reduces

D. It acts as oxidising agent only

Answer: B

Watch Video Solution

H2O2

3. In ,  acts as

A. oxidising agent

B. reducing agent

C. both ( ) and ( )

D. none of these

C + H2O → CO + H2 H2O

a b

https://dl.doubtnut.com/l/_YFp4nxlnWR5b
https://dl.doubtnut.com/l/_fLqPlWzyOAZi


Answer: A

Watch Video Solution

4. Which substance is serving as a reducing agent in the following

reaction? 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

14H + + Cr2O
2 −
7 + 3Ni → 2Cr3 + + 7H2O + 3Ni2 +

H2O

Ni

H +

Cr2O
2 −
7

https://dl.doubtnut.com/l/_fLqPlWzyOAZi
https://dl.doubtnut.com/l/_DUrKCoWszZRB


5.  acts both as reductant and as oxidant, while  acts

only as oxidant. It is due to their

A. Solubility ability

B. Maximum oxidation number

C. Minimum oxidation number

D. Minimum number of valence electrons

Answer: B

Watch Video Solution

HNO2 HNO3

6. Oxidation number if nickel in  is

A. 

B. 

C. 

Ni(CO4)

0

+4

−4

https://dl.doubtnut.com/l/_7f4CJbdPcdF3
https://dl.doubtnut.com/l/_elB3TYMEEjUR


D. 

Answer: A

Watch Video Solution

+2

7. The oxidation number of carbon in  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH2Cl2

0

+2

−2

+4

https://dl.doubtnut.com/l/_elB3TYMEEjUR
https://dl.doubtnut.com/l/_thTDbBrLepKQ


8. Which of the following statements is correct?

A. Hydrogen has oxidation number  and 

B. Hydrogen has same electronegativity as halogens

C. Hydrogen will not be liberated at anode

D. Hydrogen has same ionization potential as alkali metals

Answer: A

Watch Video Solution

−1 +1

9. An element which never has a positive oxidation number in any of

its compounds

A. Boron

B. Oxygen

C. Chlorine

https://dl.doubtnut.com/l/_WBTpqsHQqUkz
https://dl.doubtnut.com/l/_tZCylBbTMvIu


D. Fluorine

Answer: D

Watch Video Solution

10. If  changes into , the oxidation number is changed by

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HNO3 N2O

+2

−1

0

+4

https://dl.doubtnut.com/l/_tZCylBbTMvIu
https://dl.doubtnut.com/l/_eOcvdVCqs6x2


11. The oxidation number of iron in the compound  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

K4[Fe(CN)6]

+6

+4

+3

+2

12. The brown ring complex compound is formulated as

. The oxidation state of  is

A. 

B. 

C. 

[Fe(H2O)5NO]SO4 Fe

1

2

3

https://dl.doubtnut.com/l/_gVs3WvdjwN1T
https://dl.doubtnut.com/l/_abEkVxm5Sjbl


D. 

Answer: B

Watch Video Solution

0

13. The oxidation number of  in  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

S Na2S4O6

2

3

3

2

3

5

5

2

https://dl.doubtnut.com/l/_abEkVxm5Sjbl
https://dl.doubtnut.com/l/_sDbdub3fbxFZ


14. Identify the element which can have highest oxidation numbers

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N

O

Cl

C

15. What is the net charge on ferrous ion ?

A. 

B. 

C. 

D. 

+2

+3

+4

+5

https://dl.doubtnut.com/l/_ZgzWjf5nLRww
https://dl.doubtnut.com/l/_2R8PYM8kEuJO


Answer: A

Watch Video Solution

16. Which of the following reaction involves oxidation reduction?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2 + Br2 → 2HBr

HBr + AgNO3 → AgBr + HNO3

NaBr + HCl → NaCl + HBr

2NaOH + H2SO4 → Na2SO4 + 2H2O

17. What is the equivalent weight of phosphoric acid 

according to the equation 

(H3PO4)

https://dl.doubtnut.com/l/_2R8PYM8kEuJO
https://dl.doubtnut.com/l/_2V5mlIFLCpVA
https://dl.doubtnut.com/l/_khNn46wyCNX5


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NaOH + H3PO4 → NaH2PO4 + H2O

25

49

59

98

18. For decolourisation of , the moles of 

required is

A. 

B. 

C. 

1mol ofKMnO4 H2O2

1/2

3/2

5/2

https://dl.doubtnut.com/l/_khNn46wyCNX5
https://dl.doubtnut.com/l/_aE3hRZWOje86


D. 

Answer: C

Watch Video Solution

7/2

19. The oxidation number of sulphur in  and iron in 

 is respectively

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

H2S2O7

K4Fe(CN)6

+6 +2

+2 +2

+8 +2

+6 +4

https://dl.doubtnut.com/l/_aE3hRZWOje86
https://dl.doubtnut.com/l/_xdADaupzGYDg
https://dl.doubtnut.com/l/_cplbPZmm2Ch6


Assertion Reasoning Questions

20.  in neutral aqueous medium is disproportionate to

A.  mole of  and  mole of 

B.  mole of  and  mole of 

C.  mole of  and  mole of 

D.  mole of  and  mole of 

Answer: A

Watch Video Solution

MnO
2 −
4

2/3 MnO
−
4 1/3 MnO2

1/3 MnO
−
4 2/3 MnO2

1/3 Mn2O7 1/3 MnO2

2/3 Mn2O7 1/3 MnO2

1. Assertion: Amongest the halogens, fluorine can oxidise the

elements to the highest oxidation- state. 

Reason: Due to small size of fluoride ion, it is difficult to oxidise

fluoride ion to fluorine. Hence reverse reaction takes place more easily.

https://dl.doubtnut.com/l/_cplbPZmm2Ch6
https://dl.doubtnut.com/l/_xo9pT7IxkLRg


A. If both the assertion and reason are true and reason is the true

explanation of the assertion.

B. If both the assertion and reason are ture but the reason is not

the correct explanation of assertion

C. If the assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

2. Assertion:  gas belaches the articles permanently. 


Reason:  is a strong reducing agent.

Watch Video Solution

Cl2

Cl2

https://dl.doubtnut.com/l/_xo9pT7IxkLRg
https://dl.doubtnut.com/l/_C8ZaWOvffoUf


3. Assertion: In some cases oxygen shows positive oxidation number

though it is an electronegative element. 

Reason: Fluorine is more electronegative than oxygen.

Watch Video Solution

4. Assertion: Reaction of  and  in the presence of 

catalyst gives elemental sulphur. 

Reason:  is a reducing agent.

Watch Video Solution

SO2 H2S Fe2O3

SO2

5. Assertion:  is stronger reducing agent than . 


Reason:  of  is negative.

Watch Video Solution

Cu H +

E0 Cu2 + /Cu

https://dl.doubtnut.com/l/_3GvHTm3TuwKD
https://dl.doubtnut.com/l/_NXJTMHPOMjVg
https://dl.doubtnut.com/l/_UU3KKqI5FpFZ


Section D Chapter End Test

1. For  and  the correct choice is

A.  is dibasic and reducing

B.  is dibasic and non-reducing

C.  is tribasic and reducing

D.  is tribasic and non-reducing

Answer: A

Watch Video Solution

H3PO3 H3PO4

H3PO3

H3PO3

H3PO4

H3PO3

2. The oxidation number of sulphur in  and iron in 

 is respectively

A.  and 

H2S2O7

K4Fe(CN)6

+6 +2

https://dl.doubtnut.com/l/_wgfGGGYgqUjG
https://dl.doubtnut.com/l/_eZz75HwpKISB


B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

+2 +2

+8 +2

+6 +4

3. One mole of  loses ten moles of electrons to form a new

compound . Assuming that all the nitrogen appears in the new

compound, what is the oxidation state of nitrogen in ? (There is no

change in the oxidation state of hydrogen.)

A. 

B. 

C. 

D. 

N2H4

A

A

+3

−3

−1

+5

https://dl.doubtnut.com/l/_eZz75HwpKISB
https://dl.doubtnut.com/l/_p8Gs0UnlqKQ2


Answer: A

Watch Video Solution

4. In the compound  which shows superconductivity,

what is the oxidation state of  ? 


Assume that the rare earth element yttrium is in its usual 

oxidation state.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

YBa2Cu3O7

Cu

+3

3/7

7/3

3

7

https://dl.doubtnut.com/l/_p8Gs0UnlqKQ2
https://dl.doubtnut.com/l/_bEsxdnIsn6Xu
https://dl.doubtnut.com/l/_8TVuPWDKVu3v


5. The oxidation number of  in , and , respectively, are

A. ,  and 

B. ,  and 

C. ,  and 

D. ,  and 

Answer: A

Watch Video Solution

S S8, S2F2 H2S

0 +1 −2

+2 +1 −2

0 +1 +2

−2 +1 −2

6. Which one of the following reactions is not an example of redox

reaction?

A. 

B. 

C. 

Cl2 + 2H2O + SO2 → 4H + + SO4 − 2Cl−

Cu+ + + Zn → Zn+ + + Cu

2H2 + O2 → 2H2O

https://dl.doubtnut.com/l/_8TVuPWDKVu3v
https://dl.doubtnut.com/l/_K9cUh4wh1u7t


D. 

Answer: D

Watch Video Solution

HCl + H2O → H3O
− + Cl−

7. For the reaction, ,  


, 

A. Carbon can oxidise 

B. Oxidation of carbon is not feasible

C. Oxidation of  is not fesible

D.  can oxidise carbon

Answer: D

Watch Video Solution

C + O2 → CO2 ΔH = − 393J

2Zn + O2 → 2ZnO ΔH = − 412J

Zn

Zn

Zn

https://dl.doubtnut.com/l/_K9cUh4wh1u7t
https://dl.doubtnut.com/l/_u9ODPrkPFXTN
https://dl.doubtnut.com/l/_dzxCct19P7sB


8. In the reaction ,  and  are

respectively

A. , 

B. , 

C. , 

D. , 

Answer: D

Watch Video Solution

B2H6 + 2KOH + 2X → 2Y + 6H2 X Y

H2 H3BO3

HCl KBO3

H2O KBO3

H2O KBO2

9. In a balanced equation ,

the value of , ,  are

A. , , 

B. , , 

C. , , 

H2SO4 + xHI → H2S + Y I2 + zH2O

x y z

x = 3 y = 5 z = 2

x = 4 y = 8 z = 5

x = 8 y = 4 z = 4

https://dl.doubtnut.com/l/_dzxCct19P7sB
https://dl.doubtnut.com/l/_ZtEK30IckwNR


D. , , 

Answer: C

Watch Video Solution

x = 5 y = 3 z = 4

10.  (  mole) in neutral aqueous medium is disproportionate

to

A.  mole of  and  mole of 

B.  mole of  and  mole of 

C.  mole of  and  mole of 

D.  mole of  and  mole of 

Answer: A

Watch Video Solution

MnO
2 −
4 1

2/3 MnO
−
4 1/3 MnO2

1/3 MnO
−
4 2/3 MnO2

1/3 Mn2O7 1/3 MnO2

2/3 Mn2O7 1/3 MnO2

https://dl.doubtnut.com/l/_ZtEK30IckwNR
https://dl.doubtnut.com/l/_H9StGLDaIhLy
https://dl.doubtnut.com/l/_P0f3F1nE9BbP


11. The conductivity of a saturated solution of  is 

 and its equivalent conductance is 

. The  for  will be .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

BaSO4

3. 06 × 10− 6ohm − 1cm− 1

1.53ohm − 1cm2 ≡− 1 Ksp BaSO4

4 × 10− 12

2.5 × 10− 9

2.5 × 10− 13

4 × 10− 6

12.  reduces 

A. In neutral solution

B. In acidic solution

C. In non-polar solution

H2O2 K4Fe(CN)6

https://dl.doubtnut.com/l/_P0f3F1nE9BbP
https://dl.doubtnut.com/l/_8CzctRZhgQqL


D. In alkaline solution

Answer: B

Watch Video Solution

13. When sodium metal is dissolved in liquid ammonia, blue colour

solution is formed. The blue colour is due to

A. Solvated 

B. Solvated electrons

C. Solvated  ions

D. Solvated protons

Answer: B

Watch Video Solution

Na+ ions

NH −
2

https://dl.doubtnut.com/l/_8CzctRZhgQqL
https://dl.doubtnut.com/l/_gNXvml6hoZh0
https://dl.doubtnut.com/l/_Z3Y4NcSO6knR


14. Which of the following is redox reaction ?

A.  with 

B. In atmosphere,  from  by lightning

C. Evaporation of 

D. Nitrogen oxides from nitrogen and oxygen by lightning

Answer: D

Watch Video Solution

H2SO4 NaOH

O3 O2

H2O

15. In which of the following reactions  is a reducing agent?

A. 

B. 

C. 

D. 

H2O2

2FeCl2 + 2HCl + H2O2 → 2FeCl3 + 2H2O

Cl2 + H2O2 → 2HCl + O2

2HI + H2O2 → 2H2O + I2

H2SO3 + H2O2 → H2SO4 + H2O

https://dl.doubtnut.com/l/_Z3Y4NcSO6knR
https://dl.doubtnut.com/l/_mRj320eZfwuM


Answer: B

Watch Video Solution

16. Which is the best description of the behaviour of bromine in the

reaction given below 

A. Oxidised only

B. Reduced only

C. Proton acceptor only

D. Both oxidised and reduced

Answer: D

Watch Video Solution

H2O + Br2 → HOBr + HBr

https://dl.doubtnut.com/l/_mRj320eZfwuM
https://dl.doubtnut.com/l/_uKXL7ZdZstUD


17. Which of the following substances acts as an oxidising as well as a

reducing agent?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Na2O

SnCl2

Na2O2

NaNO2

18. When  is converted to , the change in the

oxidation state of chromium is

A. 

B. 

K2Cr2O7 K2CrO4

0

6

https://dl.doubtnut.com/l/_znN0TuGR4Csw
https://dl.doubtnut.com/l/_92wv30g2XoCC


C. 

D. 

Answer: A

Watch Video Solution

4

3

19. Oxidation state of chlorine in perchloric acid is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−1

0

−7

+7

https://dl.doubtnut.com/l/_92wv30g2XoCC
https://dl.doubtnut.com/l/_PZzk1AzCzUTU
https://dl.doubtnut.com/l/_Ynw1BrgT8qxn


20. The oxidation number of  in  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

S H2S2O8

+2

+4

+6

+7

21. The oxidation state of nitrogen in  is

A. 

B. 

C. 

D. 

N3H

+
1

3

+3

−1

−
1

3

https://dl.doubtnut.com/l/_Ynw1BrgT8qxn
https://dl.doubtnut.com/l/_oFBOmIOXPZYe


Answer: D

Watch Video Solution

22. In  and  the oxidation state of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

XeO3 XeF6 Xe

+4

+6

+1

+3

23. The number of moles of  reduced by  of  ions

is

K2Cr2O7 1mol Sn2 +

https://dl.doubtnut.com/l/_oFBOmIOXPZYe
https://dl.doubtnut.com/l/_dEPgq3F5WbhC
https://dl.doubtnut.com/l/_TuKOdIo8FZ8I


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1/3

1/6

2/3

1

24. For the redox reaction 

 


the correct coefficients of the reactions for the balanced reaction are

A. ( ), ( ), ( )

B. ( ), ( ), ( )

C. ( ), ( ), ( )

D. ( ), ( ), ( )

MnO
ө

4 + C2O
2 −
4 + H ⊕ → Mn2 + + CO2 + H2O

MnO
−
4 = 2 C2O

2 −
4 = 5 H + = 16

MnO
−
4 = 16 C2O

2 −
4 = 5 H + = 2

MnO
−
4 = 5 C2O

2 −
4 = 16 H + = 2

MnO
−
4 = 2 C2O

2 −
4 = 16 H + = 5

https://dl.doubtnut.com/l/_TuKOdIo8FZ8I
https://dl.doubtnut.com/l/_n1qn1EUHSn8Z


Answer: A

Watch Video Solution

25. Which of the following is the strongest oxidising agent?

A. , 

B. , 

C. , 

D. , 

Answer: C

Watch Video Solution

BrO−
3 /Br2 E0 = + 1.50

Fe3 + /Fe2 + E0 = + 0.76

MnO
−
4 /Mn2 + E0 = + 1.52

Cr2O
2 −
7 /Cr3 + E0 = + 1.33

26. The equivalent weight of phosphoric acid  in the

reaction  is

(H3PO4)

NaOH + H3PO4 → NaH2PO4 + H2O

https://dl.doubtnut.com/l/_n1qn1EUHSn8Z
https://dl.doubtnut.com/l/_Tkc4wwBhNSdj
https://dl.doubtnut.com/l/_lthEUy7SZ299


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

25

49

59

98

27. Assertion: Fluorine exists only in  oxidation state. 


Reason: Fluorine has configuration.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

−1

2s22p5

https://dl.doubtnut.com/l/_lthEUy7SZ299
https://dl.doubtnut.com/l/_T3ilX4KBdQul


D. If the assertion false and reason is true.

Answer: B

Watch Video Solution

28. Assertion:  is a stronger acid than . 


Reason: Oxidation state of  in  is  and in .

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If the assertion false and reason is true.

Answer: B

HClO4 HClO3

Cl HClO4 +V II HClO3 + V

https://dl.doubtnut.com/l/_T3ilX4KBdQul
https://dl.doubtnut.com/l/_IoUM3Pdws0wM


Watch Video Solution

29. Assertion: Oxidation number of carbon in  is zero. 


Reason:  formaldehyde, is a covalent compound.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B. If both assertion and reason are true and reason is not the

correct explantion of the assertion.

C. If assertion is true but reason is false.

D. If the assertion false and reason is true.

Answer: B

Watch Video Solution

CH2O

CH2O

https://dl.doubtnut.com/l/_IoUM3Pdws0wM
https://dl.doubtnut.com/l/_hOo6onCTUtOa

